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MODULE |

BASICSOF ECONOMIC

INTRODUCTION

Economics is a socia science that deals with human wants and their satisfaction. People have
unlimited wants. But the resources to satisfy these wants are limited. They are always engaged in work to
secure the things they need for the satisfaction of their wants. The farmer in the field, the worker in the
factory, the clerk in the office, and the teacher in the school are all at work. The basic question that arises
here is:. Why different people undertake these activities? The answer is that they are working to earn

income with which they satisfy their wants.

People have multiple wants to satisfy. They have to satisfy their want for food, cloth, shelter,
education, health, etc. Thus human wants are unlimited. In a sense they are insatiable. When one want is
satisfied another want takes its place and so on in an endless succession. By doing some work or activity
people earn money. This money is used to satisfy their wants. Thus our activities have two common
aspects, first, we are all engaged in earning our living, and secondly, these earnings enable us to satisfy
our want for different goods and services. This action of earning and spending is called economic activity.

Prof. Seligman says, the starting point of all economic activity is the existence of human wants.
Wants give rise to efforts and efforts secure satisfaction. The things which directly satisfy human wants
are called consumption goods. A few consumption goods like air, sunshine, etc. are abundant . They are
available at free cost. But most of goods are scarce. They are available only by paying a price. And,

therefore, they are called economic goods. They do not exist in sufficient quantity to satisfy all wants.

People everywhere are engaged in some kind of economic activity for satisfaction of their wants. Wants,
efforts, satisfactionl said Bastitat —constitute the circle of economics.

The subject matter of economics is generally divided into four parts. They are Production,
Consumption, Exchange and Distribution. Production means producing things or creation or addition of
utilities to the goods and services to make them capable of satisfying various wants Consumption deals
with human wants and their satisfaction. Exchange refers to transfer of goods and services through the
medium of money and various credit instruments. Finally, distribution refers to the sharing of income
from production by four factors of production namely, land, labour, capital and organization. Here, we

study how wage, rent, interest and profit are determined.

I ntroductory Economics | Page5



School of Distance Education

People everywhere are engaged in some kind of economic activity for satisfaction of their wants.

Wants, efforts, satisfactionl said Bastitat —constitute the circle of economics.

The subject matter of economics is generally divided into four parts. They are Production,
Consumption, Exchange and Distribution. Production means producing things or creation or addition of
utilities to the goods and services to make them capable of satisfying various wants Consumption deals
with human wants and their satisfaction. Exchange refers to transfer of goods and services through the
medium of money and various credit instruments. Finally, distribution refers to the sharing of income
from production by four factors of production namely, land, labour, capital and organization. Here, we

study how wage, rent, interest and profit are determined.

In addition, we also study, Public Finance and Planning. Public finance studies the financial
operations of the governments and other public bodies. Here we study, how the government collects
money, how it spends and how it frames its fiscal policy. Planning is also included in the subject matter
of economics which refersto the systematic, efficient and full utilization of available limited resources for

the maximum public welfare.

Definitions of Economics

The earlier term for ‘economics’ was political economy. It was adapted from the French Mercantilist usage
of économie politique, which extended economy from the ancient Greek term for household management to
the national realm as public administration of the affairs of state. Sir James Steuart (1767) wrote the first book
in English with “political economy’ in the title, explaining that just as: Economy in general [is] the art of
providing for all the wants of a family, [so the science of political economy] seeks to secure a certain fund of
subsistence for al the inhabitants, to obviate every circumstance which may render it precarious, to provide
everything necessary for supplying the wants of the society, and to employ the inhabitants ... in such manner
as naturally to create reciprocal relations and dependencies between them, so as to supply one another with
reciprocal wants. The title page gave as its subject matter “population, agriculture, trade, industry, money,

coin, interest, circulation, banks, exchange, public credit and taxes”.

The English word economics is derived from the ancient Greek word oikonomia - meaning the
management of a family or a household. It is thus clear that the subject economics was first studied in ancient
Greece. What was the study of household management to Greek philosophers like Aristotle (384-322 BC) was

the “study of wealth” to the mercantilists in Europe between the sixteenth and eighteenth centuries.
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Economics, as a study of wealth, received great support from the Father of economics, Adam Smith, in the late
eighteenth century. Since then, the subject has travelled a long and this Greek or Smithian definition serves
our purpose no longer. Over the passage of time, the focus of attention has been changed. As aresult, different

definitions have evolved. They are:

1. Adam Smith’s Wealth Definition:

The formal definition of economics can be traced back to the days of Adam Smith (1723-90) - the great
Scottish economist. Following the mercantilist tradition, Adam Smith and his followers regarded economics
as a science of wealth which studies the process of production, consumption and accumulation of wealth. His
emphasis on wealth as a subject matter of economics is implicit in his great book ‘An Inquiry into the Nature
and Causes of the Wealth of Nations’ or, more popularly known as ‘Wealth of Nations’ published in 1776.
According to Smith “The great object of the Political Economy of every country isto increase theriches
and power of that country.” Like the mercantilists, he did not believe that the wealth of a nation liesin the
accumulation of precious metals like gold and silver. To him, wealth may be defined as those goods and
services which command value-in- exchange. Economics is concerned with the generation of the wealth of
nations. Economics is not to be concerned only with the production of wealth but also the distribution of
wealth. The manner in which production and distribution of wealth will take place in a market economy is the
Smithian ‘invisible hand’ mechanism or the ‘price system’. Anyway, economics is regarded by Smith as the
‘science of wealth.’

Other contemporary writers also define economics as that part of knowledge which relates to wealth. John
Stuart Mill (1806-73) argued that economics is a science of production and distribution of wealth. Another
classical economist Nassau William Senior (1790-1864) argued “The subject matter of the Political
Economics is not Happiness but Wealth.” Thus, economics is the science of wealth. However, the last decade
of the nineteenth century saw a scathing attack on the Smithian definition and in its place another school of
thought emerged under the leadership of an English economist, Alfred Marshall (1842-1924).

1. Marshall’s Welfare Definition:

Alfred Marshall in his book ‘Principles of Economics published in 1890 placed emphasis on human activities
or human welfare rather than on wealth. Marshall defines economics as “a study of men as they live and move
and think in the ordinary business of life.” He argued that economics, on one side, is a study of wealth and, on
the other, is a study of man. Emphasis on human welfare is evident in Marshall’s own words: “Political
Economy or Economics is a study of mankind in the ordinary business of life; it examines that part of
individual and social action which is most closely connected with the attainment and with the use of the

material requisites of well-being.”
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Thus, “Economics is on the one side a study of wealth; and on the other and more important side, a part of the
study of man.” According to Marshall, wealth is not an end in itself as was thought by classical authors; it is a
means to an end -the end of human welfare. This Marshallian definition has the following important features:

i. Economicsisasocial science since it studies the actions of human beings.

ii. Economics studies the “ordinary business of life’ since it takes into account the money-earning and money-
spending activities of man.

iii. Economics studies only the ‘material’ part of human welfare which is measurable in terms of the
measuring rod of money. It neglects other activities of human welfare not quantifiable in terms of money. In
this connection A. C. Pigou’s (1877- 1959) - another great neo-classical economist - definition is worth
remembering. Economics is “that part of social welfare that can be brought directly or indirectly into relation
with the measuring rod of money.”

iv. Economics is not concerned with “the nature and causes of the Wealth of Nations.” Welfare of mankind,

rather than the acquisition of wealth, isthe object of primary importance.

3. Robbins’ Scarcity Definition:

The most accepted definition of economics was given by Lord Robbins in 1932 in his book ‘An Essay
on the Nature and Significance of Economic Science’. According to Robbins, neither wealth nor human
welfare should be considered as the subject-matter of economics. His definition runs in terms of scarcity:
“Economics is the science which studies human behaviour as a relationship between ends and scarce means
which have alternative uses.” From this definition, one can build up the following propositions:

(i) Human wants are unlimited; wants multiply -luxuries become necessities. There is no end of wants. If food
were plentiful, if there were enough capital in business, if there were abundant money and time -there would
not have been any scope for studying economics. Had there been no wants there would not have been any
human activity. Prehistoric people had wants. Modern people also have wants. Only wants change and they
are limitless.

(if) The means or the resources to satisfy wants are scarce in relation to their demands. Had resources been
plentiful, there would not have been any economic problems. Thus, scarcity of resources is the fundamental
economic problem to any society. Even an affluent society experiences resource scarcity. Scarcity of resources
givesrise to many ‘choice’ problems.

(iif) Since the prehistoric days one notices constant effort of satisfying human wants through the scarcest
resources which have alternative uses. Land is scarce in relation to demand. However, this land may be put to
different alternative uses.
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A particular plot of land can be either used for jute cultivation or steel production. If it is used for steel
production, the country will have to sacrifice the production of jute. So, resources are to be allocated in such a
manner that the immediate wants are fulfilled. Thus, the problem of scarcity of resources gives rise to the
problem of choice. Society will have to decide which wants are to be satisfied immediately and which wants
are to be postponed for the time being. Thisis the choice problem of an economy. Scarcity and choice go hand
in hand in each and every economy: “It exists in one-man community of Robinson Crusoe, in the patriarchal
tribe of Central Africa, in medieval and feudalist Europe, in modern capitalist America and in Communist
Russia.”

In view of this, it is said that economics is fundamentally a study of scarcity and of the problems to
which scarcity gives rise. Thus, the central focus of economics is on opportunity cost and optimisation. This
scarcity definition of economics has widened the scope of the subject. Putting aside the question of value
judgement, Robbins made economics a positive science. By locating the basic problems of economics - the
problems of scarcity and choice - Robbins brought economics nearer to science. No wonder, this definition has
attracted a large number of people into Robbins’ camp.

The American Nobel Prize winner in Economics in 1970, Paul Samuelson, observes: “Economics is the
study of how men and society choose, with or without the use of money, to employ scarce productive
resources which could have alternative uses, to produce various commodities over time, and distribute them

for consumption, now and in the near future, among various people and groups in society.”

Relation of Economicswith Other Social Science Subjects

Economics is closely related to other social sciences especially History, Political science, Law,
Psychology and Sociology. The whole discussion of value, as we shall see, depends intimately upon
considerations of psychology. Sociology is sometimes defined as the social science, that is, the science of
al social relations. If sociology is considered in this sense, Economics is a branch of sociology. Other
writers hold that sociology deals only with the more general laws which apply to the whole social

structure and that it is coordinate with economics and politics and ethics, and not inclusive of them all.

Politics is the science of the state and because of many important ways in which the state
influences, and is influenced by the manner in which its people make a living, the fields of the two

sciences are closely interwoven and have many problems in common.

Ethics is the science of moral conduct. It asks the question what ought to be. There was a time

when economists held that economics was concerned only with the question, what is, and not with the
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guestion, what ought to be. But now a days most of the economists considered economics as a positive
science as well as a normative science.

Economicsis also closely related to the science of law. Government and law form aframework in
which economic forces act. Thus Economics is the repository of information on resource dynamics.
Similar to agriculture and human survival, social sciences must continue to appreciate economics for an

ever growing matrix of phenomena which upon analysis facilitate learning in every discipline.

The Central Economic Problem

Economic problem arises because of scarcity of resources in relation to demand for them. Prof.
Lionel Robbins of London School of Economics has defined economics as a science which studies
human behavior as a relationship between ends and scarce means which have aternative usedl.

Accordingly, he has given the following reasons for emergence of economic problems;

1. Human wants(or ends) are unlimited

Man is a bundle of wants. There is no end to human wants. As one want is satisfied, many
others crop up and this goes on endlessly. Again one particular want cannot be satisfied for all
times to come e.g. want for food. After fulfilling it at a particular time, it crops up again and again.
Thus wants are not only unlimited but recurring in nature also. In this sense they are insatiable.
Wants differ in urgency or intensity. Some wants are more important while others are less
important. This enables a man to arrange his wants in order of preference and make a choice

among different wants.

2. Resources (means) to satisfy wants are limited (scarce)

Goods and services are produces by an economy with its resources namely-land, |abour,
capital and enterprise. Unfortunately, such resources are limited in relation to its demand. Due to
scarcity of resources, we cannot produce all the goods and services that the various sections of the
society need. If more resources are employed for the production of one commodity, |ess resources
are left for production of other goods. Consequently, some wants will have to go unsatisfied.

Therefore an economy has to decide how to make best possible use of its limited resources.

3. Resources have dternative uses

The resources of an economy are not only scarce but also have aternative uses and

therefore choice has to be made in their use. For example, a plot of land can be used to produce
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wheat or for construction of afactory or for a school building. If the plot isused for the cultivation
of wheat, it cannot be used for other purposes. In other words, production of one commodity has
to be sacrificed for production of other. Thus, the economy constantly faced with choosing better

alternative uses to which its resources should be put.

In short, the problem of making a choice among alternative uses of resources is called the
basic or central problem of an economy. Such problems are common to al economies. The central

problems relate to different aspects of resources are cited below;

l.  The problem of allocation of resources:

@ What to produce
(O How to produce
© For whom to produce

ll. The problem of utilization of resources:

@ Problem of efficiency in production and distribution
© Problem of full employment of resources

© The problem of growth of resources

The problem of allocation of resour ces

An economy has to allocate its scarce resources in such away that serves the best needs of the
society. This problem isin fact the problem of _what, how and for whom to produce?

(1) What to produce and in what quantities?

Since human wants are unlimited and the resources of the economy to satisfy them are

limited the economy cannot produce all goods and services required by the people. More of one

good or service produced means less of other goods. Therefore every society must exactly choose
which goods and services are to be produced and in what quantities. For instance, the economy
has to decide whether the resources are to be alocated for the production of consumer goods or
capital goods, or necessary goods or luxurious goods or civil goods or military goods. After
deciding which goods should be produced society has to decide the quantity of each good has to
be produces.

I ntroductory Economics | Page 11



School of Distance Education

(2) How to produce?

This problem refers to the choice of technique of production. It means that which
combination of resources or factors to be used for the production of goods and services. There are
two types of techniques of production. ie. the capital intensive technique of production and labour
intensive techniques of production. More labour and less capital or relatively less labour and more
capital can be used for production. Similarly, small scale or large scale production can be used.
The guiding principle here is that only those techniques should be employed which cause the least

possible cost to produce each unit of a commodity or service.

(3) For whom to produce?

This problem refers who will consume the goods and services produces. A few rich and
many poor or vice-versa. The goods and services produced for the people who can purchase them.
And the purchasing power of the people depends on how the produced goods and services are
distributed among the people who are helped to produce them. i.e., how is the product distributed

among the four factors of production-land, labour, capital and enterprise.

The problem of full utilization of resources is concerned with (i) how to ensure that
limited resources of the economy are used most efficiently and (ii) how to secure full employment

of resources as discussed below.
(4) The problem of efficiency in production and distribution.

Efficiency in production and distribution is another problem which follows automatically
the first three problems mentioned above. Since the resources are limited, it is very important that
they are efficiently used. By efficiency we mean that resources are being put to their best possible
use. Allocation of resources in production is considered efficient when any other alternate
alocation cannot increase production of an article even by one unit. Likewise distribution of
production among agents of production is said to be efficient when alternate distribution does not

make even one person better off without affecting others adversely.
(5) The problem of full employment of resour ces.

The problem of full employment of resources implies that existing resources, scarce as
they are, should not remain unutilized or under-utilized. Production and supply of goods in every
economy is generally always small than the demand for them. Hence to maximize production, all

the available resources need to be fully utilized. In fact unemployment or under employment of
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resources is nothing but wastage of resources. Therefore, an economy has to ensure that its

resources are fully employed.

(6) The problem of growth of resour ces.

Since scarcity of resources is a basic fact of life, its impact can be lessened to some extent
through growth of resources. Again the scarce resources exhaust gradually on being used.
Therefore, to make up their deficiency, growth of resources has become another basic problem of
an economy. Economic growth involves expansion of resources and improvement in technology.
It is through effective growth of resources and improved technology by countries like America,
Canada, Russia, West European countries and Japan that their economies are rich and devel oped
leading to a higher standard of living. It has, therefore, become most essential for al economies
especially the poor ones to not only make full use of their resources but also ensure to grow them

S0 as to meet ever increasing demand of their people for goods and services.
(6) The problem of economic growth

Every economy in this world is aiming at its rapid economic growth so as to ensure
continuous rise in the living standard of its citizens. For underdeveloped countries, the problem of
economic growth is highly crucial and significant because they have to grow at a higher rate to
bring the living standard of their people to the level of developed countries. For this, the rate of
economic growth needs to be kept higher than the rate of increase in population. Therefore, an
economy has to explore potentials of its growth and generate new resources so that its capacity to

produce more goods from year to year.

Subject matter: Micro and Macro Economics

The subject matter of economics has been divided into two parts- Micro economics and
Macro economics. Ragner Frisch of Oslo University (Norway) was the first economist to use these

terms in 1933 which now have been adopted by economists all over the world.

Micro Economics

The term micro* is derived from the Greek word mikros* which means small‘. Therefore
micro economics studies the economic behavior of individual units of an economy and not an

economy as awhole. It concerns itself with the detailed study of individual decision-makers like a
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household, a firm or individual consumers and producers. How a consumer maximizes his
satisfaction with his limited income or how a firm maximizes its profits or how the wage of a
worker is determined are all instances of micro analytical approach.

According to Prof. Boulding -Micro economics is the study of particular firms, particular
households, individual prices, particular households, individual prices, wage incomes, individual
industries, particular commoditiesl. Micro economic analysis is also known as microscopic
analysidl. Since the subject matter of micro economics deals with the determination of factor

prices and product prices micro economics is called as price theory*.

Scope of Micro Economics
|
| | [ |
Theory of Theory of Theory of Economics of
demand production  distribution Welfare

(Factor pricing)

M acr o Economics

The word macro‘is derived from the Greek word makros‘which means large’. Therefore
macro economics is the study of economy in its totality or as a whole. It is concerned with the
study of national income and not individual income, national saving and not individual saving,
aggregate consumption expenditure and not individual consumption expenditure, total production
and not production of individual firm, price level and not individual price etc. In short it deals
with the economy as a whole. The problem of full employment, aggregate consumption, aggregate
investment, total savings, general level of prices and variations in them are al the subject matter

of macro economics.

Scope of Macro Economics

| | | |
Theory of Theory of Theory of Theory of Gen. Theory of
National Income Employment Money price level Growth
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The following comparison further clarifies the distinction.

Micro Economics

M acr o Economics

1. It deals with the study of individual

€conomic units.

1. It dealswith the study of economy as a
whole and its aggregates.

2. It deals with the individual income,
individual prices, individual output,
etc.

2. It deds with national income, price

level, national output, etc.

3. The central problem isprice
determination of commodities and

factors of production.

3. The

determination of level of income and

centra  problem is the

employment.

4. Its main tools are demand and supply of

particular commodity/factor.

4. Its main tools are aggregate demand
and aggregate supply of the economy

asawhole.

5 1t
Analysis

deals with partial equilibrium

5. It deals with the general equilibrium

anaysis
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Modulell

Theory of Demand

The Concept of Utility

The concept of utility was introduced to social thoughts by Jeremy Bentham in 1789 and to
economic thoughts by Jevonsin 1871. The term utility refers to the want satisfying power of a commodity
or service. It is the power of a commodity or service to satisfy a want. It is the value in use of the
commodity or service because the satisfaction we get from the consumption of a commodity or service is
its value in use. Utility is subjective. Utility of a good varies from person to person. It is a psychological
phenomenon. It is the feeling of satisfaction, pleasure, happiness or wellbeing which a person derives
from the consumption or possession of a commodity or service. Commodity may be poisonous or
dangerous to one‘s health, but it possesses utility for those who want them. Thus, utility does not carry
any ethical connotation.

Total Utility and Marginal Utility

Total Utility (TU) is the total amount of satisfaction obtained from the consumption of all the
units of the commodity. It is the utility derived from all units of the commodity consumed within a
specified time period. It isthe sum of utilities which the consumer obtains from the consumption of all the
units of commodity.

Marginal Utility (MU) is the additional utility obtained from the consumption of an additional unit
of the commodity. It is the additional utility derived from the consumption of an additional unit of the
commodity. Marginal Utility is the addition made to total utility when one more unit of the commodity is

consumed. It isthe utility from the last unit. We can express marginal utility as

MU = ATU/AQ

Thus, MU is the change in total utility (ATU) as a result of a change in quantity consumed (AQ).
The symbol A is Greek letter delta; it means -the change inl. Algebraically, we can also represent
marginal utility of N unit of a commodity is the total utility of N units minus the total utility of
N-Z1units. Thus,

MUn~n=TUN - TUN-1
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The Law of Diminishing Marginal Utility

The earliest formulation of law of diminishing marginal utility was by Hermann Heinrich Gossen
in 1854. But it was Alfred Marshall popularized it and gave the name law of diminishing marginal utility.
The law states that marginal utility of a commodity diminishes as an individual consume more and more
of the commodity. That is, as we consume more and more of commodity the utility derived from the
addition unit diminishes. The law of diminishing marginal utility means that the total utility increases at a

decreasing rate.

As an individual consume more and more of a commodity within a limited time period, the
marginal utility of the additional unit decreases, becomes zero and if consumption is continued becomes
negative. This human psychological experience is called the law of diminishing marginal utility. In the
words of Marshall -the additional benefit which a person derives from a given increase of his stock of a
thing diminishes with every increase in the stock that he already had. The law of diminishing marginal
utility describes a familiar and fundamental tendency of human nature. This law has been arrived at by
introspection and by observing how people behave. The following table shows the total and marginal

utilities derived by a person from the consumption of oranges.

No of Total Utility | Marginal Utility
Oranges (In utils) (In utils)
consumed
1 10 10
2 18 8
3 24 6
4 28 4
5 30 2
6 30 0
7 28 -2
8 24 -4
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The table shows that as the consumption of oranges increases marginal utility falls. That is, total
utility is increasing at a diminishing rate. However, when number of oranges consumed increases to
seven, margina utility becomes negative and total utility starts declining. The law of diminishing
marginal utility is diagrammatically illustrated below.

> A

Util

v

TN

MU consumed

Number of Oranges

The figure shows that although total utility isincreasing, it increases at a decreasing rate. Marginal
utility is decreasing and when TU reaches its maximum MU is zero. When TU starts declining MU
becomes negative. The significance of the diminishing marginal utility of a commodity for the theory of
demand is that the quantity demanded of the commaodity rises as the price falls and vice versa. Thus, it is
because of the diminishing marginal utility that the demand curve slopes downwards.

The Natur e of Demand

In economics, demand refers to the various quantities of a good or service that people will be and
able to purchase at various prices during a period of time. It is important to note that a mere desire for a
good or service does not constitute demand. Demand implies both the desire to purchase and ability to
pay for the good. Unless demand is backed by purchasing power, it does not constitute demand. Further,
demand does not refer to the specific quantity that will be purchased at some particular price, but refer to

aseries of quantities and their associated prices.
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Demand Function

Demand for a commodity is determined by several factors. An individual‘s demand for a
commodity depends on the own price of the commodity, his income, prices of related commodities, his
tastes and preferences, advertisement expenditure made by the producers of the commodity, expectations
etc. Thus, individual‘s demand for a commodity can be expressed in the following general functional
form,

Qd=f(P,I,P,T,AE)
Where,

Q8 = Quantity demanded of commodity —xI Px

= Price of commodity X

| =Income of theindividual consumer

Pr = Price of related commodities

T = Tastes and preferences of individual consumer

A = Advertisement expenditure

E = Expectations

The demand function is just a short hand way of saying that quantity demanded , which is
recorded in the left hand side depends on the variables that are recorded on the right hand side. For many
purposes in economics, it is useful to focus on the relationship between quantity demanded of a good and
its own price, while keeping other determining factors constant. Thus, we can write the demand function

as
Q=1 (P

This implies that the quantity demanded of the commaodity X is a function of its own price, other

determinants remaining constant.

L aw of Demand

Law of demand expresses the functional relationship between price and quantity demanded.
According to the law of demand, other things being equal, if the price of the commodity falls the quantity
demanded of it will rise and if the price of the commodity rises, its quantity demanded will decline. Thus,
according to law of demand, there is an inverse relationship between price and quantity demanded, other

things remaining the same. The other things which are assumed to be constant are tastes and preferences
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of the consumer, the income of the consumer, prices of related commodities etc. Thus, the law of demand

assumes that all things other than price remain constant.

The law of demand can be illustrated through a demand schedule and through demand curve.
Demand schedule shows various quantities of good or service that people will buy at various possible
prices during some specified period, while holding constant all other relevant economic variables on
which demand depends. A demand schedule is presented below.:

Price Quantity Demanded
10 20
8 40
6 60
4 80
2 100

We can convert the demand schedule into demand curve by graphically plotting the various price- quantity

combinations, as shown below.

Price (5)

Coarmiarsdd (O

0 Choasndiby (00

It is common practice in economics to measure price on vertical axis and quantity demanded per unit
of time on the horizontal axis. Thus, the demand curve is a graph showing the various quantities of a good
or service that the people will be willing and able to buy at various possible prices. Demand curve slopes
downwards from left to the right. The downward sloping demand curve is in accordance with the law of
demand, which describes inverse price-quantity demanded relationship. The various points on the demand

curve represents alternative price -quantity combinations.
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The Market Demand
As mentioned above, the quantity of a product demanded by one individual depends on the

product‘s price, other things being equal. To explain the market behaviour, we need to know the total
demand of all individuals. The market demand for a commodity gives the alternative amounts of the
commodity demanded at various prices by all individuals in the market during a period of time. To obtain
the market demand, we sum the quantities demanded by each individual at a particular price to obtain the
total quantity demanded at that price. We repeat the process for each price to obtain market demand
schedule at all possible prices. The market demand for a commodity depends on the all the factors that
determine the individual‘s demand. In addition, it also depends on the number of buyers of the
commodity in the market. Geometrically, the market demand curve for a commodity is obtained by the

horizontal summation of the entire individual‘s demand curve for the commodity.

For sake of simplicity, let us assume that there are only two individual consumers in the market,
individual A and individual B. The individual demand schedules for these two consumers along with the

market demand schedule is given below.

Individual A Individual B Market Demand
Price | Quantity Price | Quantity Demanded | Price | Quantity
Demanded Demanded
8 2 8 2 8 4
6 4 6 4 6 8
4 8 4 6 4 14

At price Rs.8, individual A will buy 2 units and individual B will aso buy 2 units. The total
guantity demanded at Rs.8 is therefore 4 units. This is shown in the market demand schedule. Similarly,
the total quantity demanded in the market at Rs.6 is 8 units and 14 units are demanded at Rs.4 in the
market. It can be seen that the market demand schedule is the sum of the demands of the individual
consumers in the market. A graph of this market demand schedule is called the market demand curve. The

market demand curve is shown below,
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Demand Curve Demand Curve
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The above figure illustrates the proposition that the market demand curve is the horizontal sum of the
demand curves of al the individuals who buy in the market. The market demand curve will also slope
downwards from left to the right because the individual demand curves whose lateral summation gives the

market demand curve normally slope downward from left to the right.

Reasons for law of Demand

Let us analyse the reasons for the inverse relationship between price and quantity demanded. This

is due to both -income effectl and -substitution effeci. When the price of the commodity falls, the

consumer can buy more quantity of the commaodity with his given income. If he chooses to buy the same
amount of the commaodity as before, some money will be left with him. That is, consumer*s real income
or purchasing power increases. This increase in real income induces the consumer to buy more of the
commodity. This is called the income effect of the change in price of the commaodity. This is the reason
why a consumer buys more of a commodity whose price falls. Similarly, an increase in the price of the
commodity results in the reduction of real income of the consumer. Hence, the consumer buys less of a

commodity whose price rises.

Again, when price of the commodity falls, it becomes relatively cheaper than other commodities.
This induces the consumer to substitute the commodity whose price has fallen for other commodities
which have now become relatively dearer. This change in quantity demanded resulting from substituting
one commodity for another is referred to as substitution effect of the price change. As a result of this
Substitution effect, the quantity demanded of the commodity whose price has fallen rises. For normal
commodities, the income and substitution effect of a price decline are positive and reinforce each other

leading to a greater quantity demanded of the commodity.

Apart from the income effect and substitution effect, there is an additional reason why the market
demand curve for a commodity slopes downwards. When the price of the commodity is relatively high,
only few consumers can afford to buy it. When the price of the commodity falls, a greater number of
consumers will be able to afford to buy it. In other words, the size of the market expands. Thus, the

guantity demanded increases. Thisis called the -market size effect.

Exceptionsto the Law of Demand
Law of demand is generally believed to be valid in most situations. However, some exceptions
have been pointed out. According to Thorestein Veblen, some consumers measure the utility of a

commodity entirely by its price. That is, for them, the greater the price of the commaodity, the greater it‘s
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utility. These consumers demand more of such commodities the more expensive these commodities are in
order to  impress people. E.g. Diamonds. This form of conspicuous consumption is called -Veblen
effectl. When the price of such commodities goes up, their prestige value also goes up. Consequently,

guantity demanded also will rise and law of demand breaks down.

Another exception to the law of demand is the case of some inferior commodities and was pointed
out by 19" century English economist Sir Robert Giffen. He introduced the case of some inferior goodsin
which there is a direct price-quantity demanded relationship. If the price of an inferior good falls,
consumer*s real income increases. So, instead of buying more inferior goods, consumers substitute other
superior goods. In such case, quantity demanded of inferior goods falls as price fals. After the name of
Robert Giffen, such goods are caled -Giffen Goods. In the case of Giffen goods, positive substitution
effect is smaller than negative income effect when the price of such goods falls. With the rise in the price
of such goods, its quantity demanded increases and with the fall in the price, its quantity demanded
decreases. Thus, the demand curve will slope upwards to the right and not downward in the case of Giffen
goods. It should be noted that Giffen good is an inferior good but al inferior goods are not Giffen goods.

Though occurs rarely in the real world, Giffen goods represent an exception to the law of demand.
Elasticity of Demand

We have seen that the demand for a commodity is determined by its own price, income of the
consumer, prices of related goods etc. Quantity demanded of a good will change as a result of achangein

the size of any of these determinants of demand.

Elasticity measures the sensitivity of one variable to another. Specifically, it is a number that tells us
the percentage change that will occur in the variable in response to one percent increase in another
variable. Therefore, elasticity of demand refers to the sensitiveness or responsiveness of quantity
demanded of a good to a change in its own price, income and prices of related goods. Accordingly, there
are three kinds of elasticity of demand .They are

1. Priceélasticity of demand
2. Income elasticity of demand
3. Cross eladticity of demand

Price elasticity of demand measures the sensitivity of quantity demanded to change in own price
of g good. Income elasticity of demand measures the sensitivity of quantity demanded to change in

income of the consumer. While cross elasticity of demand analyses the responsiveness of quantity
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demanded of one good to changes in the price of another good.

Price easticity of demand

Price elasticity of demand refers to the responsiveness or sensitiveness of quantity demanded of a
good to changes in its own price. In order to have a measure of the responsiveness of quantity demanded
of a good to change in its price that is independent of units of measurement, Alfred Marshall, defined in
terms of percentage or relative change in quantity demanded to price. As such, price elasticity of demand
is given by the percentage change quantity demanded of a good divided by the percentage change in its

price. The elasticity is usually symbolised by Greek letter eta (n). Thus, we have

n = Percentage change in quantity demanded

Per centage changein price
Now denoting AQ for change in quantity demanded and AP for the change in price, we have the
formulafor the price elasticity of demand as;
n=24Q/Q
AP/P

Thatis,n=AQ.P

Q AP
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Or
AQ.P
AP Q

Since, price and quantity demanded are inversely related the coefficient of price elasticity of
demand (n) is a negative number. In order to avoid dealing with negative values, a minus sign is often
introduced into the formula of price elasticity of demand. That is,

n=_AQ.P
AP Q

Thus, price elasticity of demand is measured by a ratio; the percentage change in quantity demanded
divided by the percentage change in the price that brought it about. For normal negatively slopped demand
curves, price easticity will be negative, but two Elasticities are compared by comparing their absolute
values. As such, price elasticity of demand is a pure number that is it has no units of measurement attached

to it. This allows meaningful comparison between the price elasticity of demand of different commodities.

The above formulais called point elasticity formula of demand because it measures elasticity at a
point on the demand curve. The value obtained for n is just a number like 2 or 5 or ¥2 and is referred to as
the coefficient of elasticity. Since price elasticity is being measured at a point on the market demand

curve we are assuming that all other factors that affect market demand remain fixed.

Degrees of Price Elasticity of Demand

The value of price elasticity of demand ranges from zero to infinity. That is, 0< n <co. Based on the
value of elasticity or degree of responsiveness of quantity demanded, price elagticity of demand is classified

into five categories. They are
1) Perfectly inelastic demand
2 Inelastic demand
3 Unitary elastic demand
4) Elastic demand
5 Perfectly elastic demand

Now let us analyse each of them in detail.
(1) Perfectly inelastic demand
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When quantity demanded does not change as a result of change in price, demand is said to be
perfectly inelastic. Quantity demanded is unchanged when price changes or demand shows no
response to change in price. In other words, same quantity will be bought whatever the price may be.
Numerical value of elasticity will be zero (n = 0) when there is perfectly or completely inelastic

demand. The following figure illustrates the case of perfectly inelastic demand.

A

D
Pl ...........................
8
ﬁ P ...........................
: D
0 : >
Q
Quantity Demanded

A changein price from P to P leaves quantity demanded unchanged at Q units. That is, quantity

demanded does not change at all when price changes.

(2) Inelastic Demand
Aslong as there is some positive response of quantity demanded to change in price, the absolute
value of elasticity will exceed zero. The greater the response, the larger the elasticity. However,
when percentage change in quantity demanded is less than percentage change in price, demand is
said to be inelastic. That is, a certain percentage change in price leads to a smaller percentage in
quantity demanded. The coefficient of elasticity will be less than one but greater than zero (0< n <1)

when demand isinelastic. Thisis shown below,
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Price

o
v

QA Q
Quantity Demanded

When change in price from OP to OP causes a less than proportionate change in quantity demanded.

That is, quantity demanded changes by a smaller percentage than the change in price.

(1) Unitary Elastic Demand
If acertain percentage change in price leads to an equal percentage change in quantity demanded, then demand
said to have unitary elasticity. Unitary elasticity is the boundary between elastic and inelastic demand. The
coefficient of elasticity will be equal to one when demand is unitary elastic (n=1). The demand curve having

unitary elasticity over its whole range is shown below,

Price

o
v

Q &

Quantity Demanded

I ntroductory Economics | Page 28



School of Distance Education

OP and OQ are the initial price and quantity. A fall in price from OP to OP, causes an equa
proportional change in quantity demanded from OQ to OQ..
Elastic Demand

When the percentage change in quantity demanded exceeds the percentage change in price, the
demand is said to be elastic. That is, a certain percentage change in price leads to a greater percentage
change in quantity demanded. The value of coefficient of elasticity will be greater than one but less than

infinity when demand is elastic (1<n<o). This is shown below.

Price

Q1 Q buantity Demanded

Anincrease in price from OP to OP; causes a more than proportionate increase in quantity demanded
as shown by the change in quantity demanded from OQ to OQ\. Thus, a small rise in price brings in more
than proportionate fall in quantity demanded.

(2) Perfectly Elastic demand

If a small change in price leads to an infinitely large change in quantity demanded, we can say that
demand is perfectly elastic. When demand is perfectly elastic, small price reduction will raise demand to
infinity. At the same time, a slightest rise in price causes demand to fall to zero. At the going price,
consumers will buy an infinite amount (if available).above this price, they will buy nothing. The
coefficient of elasticity will be infinity when demand will be infinite when demand is perfectly elastic (n
=o0). The graph for perfectly elastic demand is shown below.
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Price
O

Quantity Demanded

When it is perfectly elastic, demand curve is a horizontal straight line. In his case an infinitely
large amount can be sold at the going price OP. A small price increase from OP decreases quantity

demanded from an infinitely large amount to zero (hyper sensitive demand).

Income Elasticity of Demand

The responsiveness or sensitiveness of quantity demanded of a commodity to changes in income
of the consumer is termed as income elasticity of demand. It is the proportionate or percentage change in

guantity demanded resulting from proportionate change in income. Thus we have

ny = Percentage change in quantity demanded

Per centage change in income
Now denoting AQ for small change in quantity demanded and AY for the small change in income

we may symbolically write the formulafor the income elasticity of demand as

ny = AQ/Q
AYIY

Thatis, ny=AQ .Y
Q AY
Or
ny=4Q.Y
AY Q
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For the most commodities, increase in income leads to increase in quantity demanded. Therefore,
income elagticity is positive. If the resulting percentage change in quantity demanded is larger than the
percentage change in income, income elasticity will exceed unity (ny >1). Then the commodity‘s demand
is said to be income elastic. If the percentage change in quantity demanded is smaller than the percentage
change in income, income elasticity will be less than unity (ny <1). Then the commodity*s demand is said
to be income inelagtic. If the percentage changes in income and quantity demanded are equal, income
elasticity will be unity (ny =1). The commodity‘s demand is said to have unitary income elasticity of

demand. Unitary income elasticity represents a useful dividing line.

There is aso a relationship between income elasticity for a commodity and proportion of income
spent on it. If the proportion of income spend on the commodity increases as income increases, then the
income elasticity of demand for the commaodity is greater than unity (ny >1). If the proportion of income
spend on the commodity decreases as income rises, then the income elasticity of demand for the
commodity is less than unity (ny <1). At the same time, if the proportion of income spend on the
commodity remains the same as income rises, then the income elasticity of demand for the commaodity is
equal to unity (ny =1).

If the commodity is normal, a rise in income causes more of it to be consumed. Other things being
equal, this means a rightward shift in the commodity‘s demand curve. Thus, income elasticity will be
positive for normal commodities. In the case of such commodities, an increase in income leads to an
increase in quantity demanded. On the other hand, if the commaodity is inferior, arise in income causes less
of it to be demanded. This implies a leftward shift in the commodity‘s demand curve. Thus income
elasticity for inferior commodities will be negative. In the case of inferior commodities increase income
will lead to fall in quantity demanded.

The boundary case between normal and inferior commodities occurs when a rise income leaves quantity

demanded unchanged so that income elasticity is zero. Zero income elasticity implies that quantity
demanded of the commodity is quite unresponsive to changes in income. Zero income elasticity is
significant because it represents a dividing line between positive income elasticity on one side and negative
income elasticity on the other.

A normal commodity can be further classified as necessities and luxury using income €elasticity. A
commodity is considered as necessity if the income elasticity is less than unity. That is, in the case of
necessities, the proportion of income spend on it falls as income rises. A commodity is considered to be
luxury if its income elasticity is greater than unity. The proportion of consumer‘s income spend on

luxuries rises as hisincome increases.
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It should be said that, sometimes, the same commodity can be regarded as a luxury by some
individuals or at some income levels and as a necessity or even as inferior commodity by other

individuals or at other income levels.

Cross Elasticity of Demand

The responsiveness of quantity demanded of one commodity to changes in the prices of other
commodities if often of considerable interest. The responsiveness or sensitiveness of quantity demanded
of one commaodity to the changes in the price of another commodity is called cross elasticity of demand.
Thus, cross elasticity of demand can be defined as percentage or proportionate change in quantity
demanded of commodity X resulting from a proportionate change in the price of commaodity Y. the cross

elasticity of commodity X with respect to the price of Y (nxy) can presented as

nxy = Percentage change in quantity demanded of X

Per centage changein price of Y
We may symbolically write the formula for the cross elasticity of demand as
Nxy = AQx/Qx
APy/Py

That is, nxy = AQx_. Py
Qx APy

Or
Nxy = AQx_. Py

APy.Qx
Where AQx is the change in quantity demanded of X, APy is the change in price of Y, Py isthe
original price of Y and Qx is the original quantity of X. The coefficient of cross elasticity can vary from
minus infinity to plus infinity. Substitute goods have positive cross elasticity and complementary goods

have negative cross elasticity.

If nxv is positive, the commodities X and Y are said to be substitutes. X and Y are substitutes if
more of X is purchased when price of Y goesup. That is, an increase in Py leads to an increasein Qx as X
is substituted for Y in consumption. For example, consumers usually purchase more coffee when price of
tea rises. Thus coffee and tea are substitutes or competing goods. In response to the rise in the price of

one good, the demand for the other good rises.

I ntroductory Economics | Page 32



School of Distance Education

On the other hand, if nxy is negative, X and Y are said to be complementary goods. When X and
Y are complementary goods, less of X will be purchased when the price of Y goes up. That is, an increase
in Py leads to areduction in Qx (and Qv). For example consumers usually purchase fewer scooters when
the price of petrol goes up. Thus scoter and petrol are complements. Other examples of commodities that
are complements are bread and bultter, tea and sugar and so on. In the case of complements, arise in the

price of one good brings about a decrease in demand for the other, as they are consumed together.

If nxy iszero, X and Y are independent commodities. A change in price of Y has no effect on the
guantity demanded of X. this may be the case with cars and pencils, telephones and chewing gum and so

on.

It should be noted that the value of nxv is not equal to the value of nyx since the responsiveness of
Qx to the change in Py need not be equal to the responsiveness of Qv to the change in Px. For example, a
change in the price of teais likely to have a greater effect on the quantity of sugar (a complement of tea)

demanded than the other way around, since teais more important of the two in terms of total expenditure.

The concept of cross elasticity of demand is very significant in economic theory. The
classification of commodities into substitutes and complementary is in terms of cross elasticity of
demand. Again, a high positive cross elasticity of demand is often used to define an industry since it
indicates that various commodities are similar. Besides we can also classify different market structures on

the basis of cross elasticity of demand.

Natur e of Cost of Production

Production is the result of combined efforts of factors of production. The suppliers of factors of
production should be paid a reward for participating in production. Cost of production is the sum total
remuneration paid to owners of factors of production. Thus, cost may be defined as payments for the
factors of production that the firm uses to produce goods and services. The value of inputs required in the
production of a commodity determines its cost of output. The firm‘s cost determines its supply. Supply
along with the demand determines the price. To understand the process of price determination and the

forces behind supply, we must understand the nature of costs.

Cost Function

The cost function expresses a functional relationship between total cost and factors that
determines it. Important factors that determine total cost of production of a firm are output, the level of

technology, the prices of factors and fixed factors. But such comprehensive cost function requires a
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multidimensional analysis. Thus, usually cost function is shown as the functional relationship between
cost and output. It isexpressed as C = f (Q), which means that the total cost (C) is afunction (f) of output
(Q), assuming all other determinants held constant.

Costsin the Short Run: Fixed Cost and Variable Cost

The cost function is observed both in the short run and in the long run. The short run is the period
of time in which output can be increased or decreased by changing only the amount of the variable factors
such as labour and raw materials. In short run there factors such as capital, land whose quantities are fixed
and cannot be varied to make changes in output. Therefore, the firm has some fixed cost and some
variable cost in the short run. Thus, total cost (TC) in the short run consists of total fixed cost (TFC) and
total variable cost (TVC). That is,

TC=TFC+TVC

Fixed costs are those which are independent of output. That is, they do not change with changes
in output. It remains constant. They are independent of the level of output. In fact, fixed cost is incurred
even when output is zero. Example: rent on building, interest on loan, salary to permanent staff. Fixed
costs are also called as supplementary or over head costs or indirect costs.

Variable costs, on the other hand, are those costs which are incurred on the employment of
variable factors whose amount can be varied in the short run. Variable costs directly vary with the size of
output. It increases with the increase in output. It decreases with the decrease in output. Variable costs are
made only when some amount of output is produced. That is, when output is zero variable cost is also

zero. Example: wages, raw material charges. Variable costs are called prime costs or direct costs.
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The concept of total cost, total fixed cost and total variable cost isillustrated in the following table

and figure.

No of units TFC TVC TC
of output

0 50 0 50

1 50 20 70

2 50 35 85

3 50 60 110

4 50 100 150
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TC

TVC

Costs

TFC

v

Out put

Since total fixed cost remains constant whatever the level of output, TFC curve is paralel to
output axis. TV C rises upwards showing that as the output is increased, TVC also increases. TVC curve
has an inverted S shape and starts from the point of origin because when output is zero the TVC aso is
zero. TC curve has been obtained by adding up vertically TFC and TVC. The TC curve is a continuous

curve which shows that with increasing output total costs also increase

Average Cost and Marginal Cost

The average cost (AC) or average total cost (ATC) isthe total cost divided by the number of units
produced. Thus, AC or ATC = TC/Q. Since, total cost is the sum of TFC and TVC, average cost is aso

sum of average fixed cost and average variable cost.

Thus, TC=TFC+TVC
AC =TC/Q=TFC/Q+TVCI/Q
That is, AC= AFC+ AVC
Average cost is also called unit cost since it is cost per unit of output is produced. The behaviour
of average cost will depend upon the behaviour of average fixed cost and average variable cost. At first
average cost is high because both AFC and AV C are high at low levels of output. As output increases AC
fall sharply because of the steady decline in both AFC and AV C. As output is beyond the optimum point,
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AC rises because thefall in AFC is negligible in relation to the rising AVC. Thus, AC will be U-shaped.

Marginal cost (MC) is the addition to the total cost caused by producing one more unit of output.
Thus MC is the extra or additional cost incurred by producing an additional unit of output. Since MC isa
change in total cost as a result of a unit change in output, it can aso be written as MC=ATC/AQ.
Algebraically, it is the total cost of N units minus the total cost of N-1 units of output. That is MCn =
TCn-TCn-1. The marginal cost also first fall and then rise and have U-shape.

The relationship between marginal cost and average cost is explained in the following table and figure.

No of unitsof output | TC AC | MC
1 30 30 30
2 57 285 | 27
3 81 27 24
4 100 25 19
5 125 25 25
6 162 27 37
7 210 30 48

4
Zg) AC
MC
0 >

Output
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The relationship between the marginal cost and average cost is stated below

e BothMCand AC are U shaped
¢+ When MCislessthan AC, ACfalls

¢ When MCisgreater than AC, ACrises
e MC cutsAC at itslowest point

Opportunity Cost

The concept of opportunity cost occupies a very important place in modern economic analysis.
The opportunity cost of a given commodity is the next best alternative sacrificed in order to obtain the
given commodity. According to Jeremy Bentham -the opportunity cost of anything is the next best
aternative that could be produced instead by the same factors or equivalent group of factors, costing the
same amount of moneyl. Thus, the opportunity cost is the cost of the opportunity missed or the alternative
foregone.

It should be noted that the opportunity cost of a commodity is not any alternative commodity that
could be produced; it is only the most valuable other commodity which the same factors could produce.
The concept of opportunity cost has wide application in economic problems. It is the opportunity cost
which explains the phenomenon of price. Since there is scarcity of goods and factor services, they are put
into alternative uses and thus command a price. If they were unlimited, there would be no alternative

foregone, no opportunity costs and no price.

Nature of Supply

Supply refers to the various quantities of a good or service that sellers will be able to offer for sale
at various prices during a period of time. It shows how price of a good or service is related to the quantity
which the sellers are willing and able to make available in the market. Asin the case of demand, supply
refers not to a specific quantity that will be sold at some particular price, but to a series of quantities and a
range of associated prices. Supply is adesired flow. That is, it shows how much firms are willing to sell

per period of time, not how much they actualy sell.

Supply Function
Like demand, supply also depends on many things. In general, quantity supplied of a product is
expected to depend on own price, prices of related products, prices of inputs, state of technology,

expectations, number of producers (sellers) in the market etc. This list can be summarised in a supply
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function.

QXs=f (Px,Pr,Pi, T,E,N)

Where,
QxS = Quantity supplied of commodity x

P« = Price of the commodity x

P: = Prices of related products

P = Prices of inputs

T = State of technology

E = Expectations

N = Number of producersin the market

For a simple theory of price, we need to know how quantity supplied varies with the product‘s

own price, al other things being held constant. Thus we can write the supply function as;

Q=1 (P)

That is, quantity supplied of commaodity x is a function of its own price, other determinants are

assumed to remain constant.

Law of Supply

The functional relationship between price and quantity supplied is called the law of supply.
According to the law of supply, as the price of the commodity falls, the quantity supplied decreases or
aternatively, as the price of the commaodity rises the quantity supplied increases, other things being equal.

Therefore, thereis a direct relationship between of the commodity and quantity supplied.

The law of supply can be illustrated through a supply schedule and supply curve. Supply schedule
is a table that shows various quantities of a good or service that sellers are willing and able to offer for

sale at various possible prices during some specified period. A supply schedule is presented below

Price Quantity Supplied
5 40
10 60
15 80
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20 100

25 120

Supply schedule shows that as price rises, a greater quantity is offered for sale. By plotting the

information contained in the supply schedule on a graph we can derive the supply curve as shown below.

Price

S

v

Quantity Supplied

The supply curve is a graph showing various quantities of a good or service that sellers are willing
and able to offer for sale at various possible prices. The supply curve slopes upwards because of the direct
relationship between price and quantity supplied. Note that the entire supply curve represents supply

while a point on the supply curve represents quantity supplied at some specific price.

Why there is a direct relationship between price and quantity supplied? The main reason is that
higher prices serve as an incentive for sellers to offer greater quantity for sale. The sellers or producers
can be induced to produce and offer a greater quantity for sale by higher prices. It is assumed that sellers
or producers aim to maximise profit from the production and sale of the commaodity. The higher the prices
of the commodity, other things being equal, the greater the potential gain producers can expect from
producing and supplying it in the market. Moreover, increases in price may invite new suppliers in the
market.
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Elasticity of Supply

The concept of elasticity of supply closely parallels that of elasticity of demand. Though quantity
supplied is influenced by a number of factors, we will focus on the commodity‘s own price as a factor
influencing supply. That is, we will be concerned with price elasticity of supply.

Price elasticity of supply measures the responsiveness or sensitiveness of quantity supplied of a
commodity to a change in its price. It is given by the percentage change in the quantity supplied of a
commodity divided by the percentage change in price. Letting € (Greek letter epsilon) stand for the

coefficient of price elasticity of supply, we have,

€ = per centage change in quantity demanded

per centage changein price
Being expressed in terms of relative or percentage changes, the price elasticity of supply isa pure
number. That is, it has no units attached to it. The value of price elasticity of supply does not change

when the units of measurement are changed. This allows meaningful comparisonsin the price elasticity of

supply of different commodities.

Using the point elasticity formula,

€ =A0Q/Q
AP/P

That is,
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Where AQ represents change in the quantity supplied and AP represents change in price. Since
guantity supplied and price move in the same direction, supply curves normally have positive slope.

Therefore, supply elasticity is normally positive. It will be anything between zero and infinity (0< € <).

Types of Supply Elasticity
When the supply curve is upward sloping, the elasticity of supply will be anything between zero
and infinity. On the basis of the value of the coefficient of elasticity of supply we can classify it into the

following five categories
(1) Perfectly inelastic supply
(2) Inelastic supply
(3) Unitary elastic supply

(4) Elastic supply
(5) Perfectly elastic supply

Let us each one of them in detail
Q) Perfectly Inelastic Supply

When the quantity supplied of a commodity does not change at all in response to the change in price,
elasticity of supply is said to be perfectly inelastic. This is the case of zero elasticity (¢ = o) and the
supply curve will be vertical straight line, as shown below.

A
S

Price

Q
Quantity Supplied
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The supply curve has zero elasticity since the same quantity Q is supplied whatever the price.
2 Inelastic Supply

If the percentage change in quantity supplied is smaller than the percentage change in price,
supply is said to be inelastic. The value of the coefficient of supply will be greater than zero but less than
unity (0<e<1). If a linear supply curve crosses or cuts the horizontal (quantity) axis, supply is inelastic, as

shown below.

Price

0

O Q: Quaniity Supplied
A change in price from P, to P> causes less than proportional change in quantity supplied from

Qi to Q.

(3) Unitary Elastic Supply

If the percentage change in quantity supplied is equal to percentage changein price, supply is said
to be unitary elastic. The value of coefficient of elasticity will be equal to one (¢ =1) when supply is
unitary elastic. If linear supply curve passes through the origin, supply is unitary elastic regardless of its
scope. Thisisillustrated below.

Price

Q  Q Quantity Supplied
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The figure shows that any straight line has a unitary elasticity indicating that the percentage

change in quantity equals the percentage change in price between any two points on the curve.

(@) Elastic Supply
If the percentage change in quantity supplied is greater than percentage change in price, supply is
said to be elastic. The value of the coefficient of elasticity will be greater than unity (1<e< «) when the

supply iselastic. A linear supply curve indicates an elastic supply if it cutsthe vertical (price) axis.

A

Price

v

Q1 Q2
Quantity Supplied

An increase in price from P to P> causes more than proportionate increase in quantity supplied
from Q1 to Qo.

(5) Perfectly Elastic Supply

At any given price infinite quantity is supplied, supply is said to be perfectly elastic. The
coefficient of elasticity will be infinity (€ = oo ) when supply is perfectly elastic. Perfectly elastic supply
curve is depicted by a horizontal supply curve parallel to quantity axis.
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Price

Qq Quantity

The supply curve hasinfinite elasticity at price OP. Nothing at all will be supplied at price below
OP, while an infinitely large quantity will be supplied at price OP.

Market Equilibrium

The market equilibrium occurs when the prevailing price equates quantity demanded to quantity
supplied. It refers to the price-quantity pair at which this takes place. Consumers bring demand to the
market for buying goods to satisfy their wants. Producers or sellers bring supply of their goods to the
market to sell them and earn profit. The market demand and supply determine prices of goods and
services exchanged between buyers and sellers. Thus, market equilibrium is reached when market
demand for and market supply of a good are equal and as a result, equilibrium prices and equilibrium
guantities are determined. At such equilibrium, buyers find that they are able to buy exactly the same
amount that they are demanding at the prevailing price and sellers are able to sell exactly the amount they
are willing to supply at the prevailing price. In other words, there is no incentive for anyone in the market

to change their behaviour. Thus equilibrium is the condition, which once achieved tends persist in time.

By bringing together the market demand and supply schedules we can see how market forces
determine equilibrium price and quantity of the good. The following table presents a hypothetical demand

and supply schedules of commodity X.
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Price of Quantity Quantity | Surplus(+) | Pressureon
commodity X Supplied | Demanded Price
(Px in Rupees) Q9 QP Shortage(-)

X X
5 140 20 120 Downward
4 100 40 60 Downward
3 60 60 0 Equilibrium
2 40 80 -40 Upward
1 20 100 -80 Upward

When the price of commodity X is Rs.1, buyers are willing and able to purchase 100 units but
sellers are willing and able to offer only 20 units for sale. Therefore, there is a shortage of 80 units. At
price of Rs.5, buyers are willing and able to purchase only 20 units while sellers are willing to offer 14
units. Therefore, there will be a surplus of 120 unitsin the market. Let us now consider a price of Rs.3. At
this price, buyers are willing to purchase 60 units and sellers are willing to offer 60 units for sale. That is,
at this price, there is neither a surplus nor a shortage. Quantity supplied of commodity is equal to the

quantity supplied. Thus Px = Rs.3 is the equilibrium price and QxS = QxP =60 is the equilibrium quantity.

At any other price other than the equilibrium price of Rs = 3, market forces are set in motion to
raise or lower the price. At the prices above the equilibrium price, the quantity supplied exceeds the
guantity demanded. For example, at Px = Rs 4, sellers are willing to put 100 units of commodity X on the
market but buyers are willing to take only 40 units. There will be surplus or excess quantity supplied of
the commodity. Then the sellers will attempt to dispose this surplus by lowering the price. As price falls,
a greater quantity will be demanded. At lower prices sellers supply smaller quantities and buyers demand
larger quantities until the equilibrium price of Rs 3 is reached, at which the quantity supplied of 60 units

of commodity X equals the quantity demanded and market clears.

On the other hand, at prices below the equilibrium price, the quantity supplied fall short of

quantity demanded. For example, at Px = Rs.2, buyers are willing to purchase 80 units but sellers will be
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able to offer only 40 units. There is a shortage or excess quantity demanded. Unhappy with the shortage,
and wanting more commodity X, buyers will bid up the price to induce sellers to supply them the desired
amount. Then the sellers offer a greater quantity at higher prices. The price will again settle at Px = Rs.3,
because at this price, the quantity demanded equals quantity supplied. Note that, price of Rs.3 is the only
price that will prevail in the market. There will be no tendency of this price to change. Such a price is
referred to as equilibrium price and quantity traded or exchanged at this price is called equilibrium
quantity. The market for the product is said to be in equilibrium when the quantity demanded equals the
quantity supplied at a specific price.

The determination of equilibrium price and quantity can also be shown graphically by bringing
together the market demand and market supply curve on the same graph, as shown below.

Surplus or
Excess

Pric

Q*

Quantity

The intersection of market demand curve DD and market supply curve SS at point E defines the
equilibrium price P* and the equilibrium quantity Q*. At the equilibrium price, quantity demanded is
equal to the quantity supplied. Because there is no excess demand or excess supply there is no pressure
for the price to change further.

As said above, the equilibrium between demand and supply is not reached at once. There is the
process of changes and adjustments which ultimately results in equilibrium price and quantity. Suppose

that price is above the equilibrium level, say at P.. At such higher price, there is excess supply or surplus
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of the commodity. Then the sellers would begin to lower pricesin order to sell their excess suppliers. This
surplus is eliminated as prices fall, quantity demanded increases and quantity supplied would decrease
until the equilibrium price P* is reached, at which quantity demanded = quantity supplied. The opposite
will happen if the price is below the equilibrium price, say at Po. There will be excess demand or
shortage. Consumers are unable to purchase the entire commodity they want at below-equilibrium prices
and they bid up the price. This would put upward pressure on price and quantity supplied increases and

until price eventually reach the equilibrium price P*, and the market clears.

Thus, through the process of adjustment in price and quantity, eventually equilibrium price and
guantity are determined at which quantity demanded and supplied are equal. As long as demand and
supply do not change, the equilibrium point remains the same. But in should be noted that, at a particular
point in time, the observed market price may or may not be the equilibrium price. All we know is that
market forces always push the market price towards the equilibrium price when they are not equal. We

can also assume that, in the absence of price controls, the market price is the equilibrium price.

TheMarket Structures

A market is a network of communications between individuals and firms for the purpose of
buying and selling of goods and services. A market can, but need not, be a specific place or location
where buyers and sellers actually come face to face for the purpose of transacting their business. That is,
the idea of a particular locality or geographical place is not necessary to the concept of market. What is
required for the market to exist is the contact between sellers and buyers so that transaction at an agreed
price can take place between them.

The popular basis of classifying market structures rests on three elements, namely, the number
firms producing the product, the nature of the product and the conditions of entry into and exit from the

market. The market can be classified in the following ways.

1. Perfect competition
2. Monopoly
3. Monopolistic competition

4. Oligopoly
Now let us examine each of the market structure in detail
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Perfect Competition
Perfect competition isthe market structure that fulfils the following conditions or assumptions.

1. Large number of buyersand sellers

The market includes large number of buyers and sellers so that no individual buyer or seller can
influence the existing market price of the commodity. Each buyer buys a insignificant quantity and each

seller sells an insignificant part of the total quantity bought and sold. Thus the seller or firm is price taker.

2. Homogeneous Product
The industry is defined as a group of firms producing a homogeneous product. The technical
characteristics of the product as well as services associated with its sale and delivery are identical. There
isno way in which abuyer could differentiate among the products of different firms
3. Freeand exit of firms
There is no barrier to entry and exit from the industry. Firms have freedom of movement in and
out of the industry
4. Profit Maximisation
The goal of all firmsis profit maximisation. No other goals are pursued.
5. No Government regulation

There is no government intervention in the market. Tariffs, subsidies etc are ruled out.

The market structure in which the above assumptions are fulfilled is called pure competition. It is
different from perfect competition, which requires the fulfillment of the following two additional
assumptions.

6. Perfect mobility of factors of production
The factors of production are free to move from one firm to another. Workers can move between

different jobs. Raw materials and other factors are not monopolized and labour is not unionized.

7. Perfect knowledge
Buyers and sellers have complete knowledge of the conditions in the market. They have perfect
knowledge about the prices at which goods are bought and sold. Therefore, advertisement becomes

unnecessary and so thereis no selling cost.
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M onopoly
Literally monopoly means one seller. Mono* means one and poly* means seller. Monopoly is said
to exist when one firm is the sole producer or seller of a product which has no close substitutes. Thus

monopoly is negation of competition. The following are important features of monopoly.

1. Thereisasingle producer or seller of the product. Entire supply of the product comes from this
single seller. There is no distinction between a firm and an industry in a monopoly. The firm and

industry are identical in monopoly.

2. There is no close substitute for the product. If there are some other firms which are producing
close substitutes for the product in question there will be competition between them. In the
presence of competition afirm cannot be said to have monopoly. Monopoly implies absence of all

competition.

3. There is no freedom of entry. The monopolist erects strong barriers to prevent the entry of new
firms. The barriers which prevent the firms to enter the industry may be economic or institutional
or artificial in nature. In the case of monopoly, the barriers are so strong that prevent entry of all

firms except the one which is already in the field.

4. The monopolist is a price maker. But in order to sell more a monopolist had to reduce the price.

He cannot sell more units at the existing price.

5. The monopolist aims at maximisation of his profit.

Monopolistic Competition

Perfect competition and monopoly are rarely found in the real world and thus they do not
represent the actual market situation. Economists often use the term imperfect competition to refer to a
market structure that is neither purely competitive nor purely monopolistic. Two forms of imperfect

competition are monopolistic competition and oligopoly.

As the name implies, monopolistic competition contains the element of both pure competition and
monopoly. Monopolistic competition may be defined as a market structure where there are many sellers

who sell differentiated products. Each producer under monopolistic competition enjoys some degree of
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monopoly and at the same time faces competition. The following are important features of monopolistic
competition.
1. Large number of sellers
The market consists of relatively large number of sellers or firms each satisfying a small share of
the market demand for the commodity. Unlike perfect competition, these large numbers of firms do not
produce homogeneous products. Instead they produce and sell differentiated products which are close
substitutes of each other. Thus there is stiff competition between them.
2. Product Differentiation
Product differentiation is a key feature of monopolistic competition. Product differentiation is a
situation in which firms use number of devices to distinguish their products from those of other firmsin
the same industry. Products produced by the firms are close substitutes of each other. Products are not
identical but are dlightly different from each other.
3. Non price competition: Selling cost
Firms incur considerable expenditure on advertisement and other selling costs to promote the sales
of their products. Promoting sales of their products through advertisement is an important example of
non-price competition. The expenditure incurred on advertisement is prominent amoung the various types

of salling costs.

4. Freedom of entry and exit
In a monopolistically competitive industry, it is easy for new firms to enter and the existing firms

to leave it. Firms will enter in to the industry attracted by super normal profit of existing firms and
existing firms will leave industry if they are making losses. However entry may not be as easy as in
perfect competition because of the need to differentiate one‘s product in a monopolistically competitive
market.

5. Thereisabsence of perfect knowledge. That is buyers and sellers do not have perfect knowledge
about market conditions

6. Thereisno uniform price. Different producers charge different prices for their products because

products are differentiated in some way.

Oligopoly

Oligopoly is said to prevail when there are few firms or sellersin the market producing or selling a

product. Oligopoly is often referred to as -competition amoung the fewl. The smplest case of oligopaly is
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duopoly which prevails when there are only two producers or sellers of the product. The following are
important features of oligopoly
1. Fewfirms
The market consists of only a few firms. When there are two or more than two, but not many,
oligopoly is said to exist. Each produces arelatively large share of the industry
2. Interdependence
There is interdependence in decision making of the few firms which comprise the industry. Thisis
because when number of competitors is few, any change in price, output etc. by a firm will have a direct
effect on the fortune of itsrival.
3. &ling cost
A direct effect of interdependence of monopolist is that the various firms have to employ various
aggressive and defensive marketing weapons to gain a greater share in the market or to prevent afall in
the share. For this firms have to incur a good deal of costs on advertisement and other measures of sales
promotion.
4. Group behaviour
The theory of oligopoly is atheory of group behaviour. There are few firmsin the group which are
very much interdependent. Each firm considers not only the market demand but also the reaction of the

other firms when any decisions or actions are taken.

5. Indeterminateness of demand curve
Another important feature of oligopoly is the indeterminateness of demand curve. This is because
of interdependence of firms in the market. Under oligopoly, a firm cannot assume that its rival will keep
their prices unchanged when it make changes in its own price. As aresult of this, the demand curve facing

an oligopolistic firm loses its definiteness and determinateness.

Suggested Readings:

1 Dominick Salvatore, Microeconomic Theory*, Schuam*s Outline Series

2. A. Koutsoyannis, Modern Microeconomics, - Macmillan
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MODULE I
PRODUCTION AND DISTRIBUTION

Production Function

Production function expresses the relationship between inputs outputs. It refers to how much
output can be produced with a given level of input. The output of a firm can change with the change in
inputs. Thus production function expresses the functional relationship between physical inputs and
physical outputs. It can be represented by a table, a graph, or and eguation and shows the maximum

output of acommodity that can be produced per period of time with each set of inputs.
It can be written as;

Q = f[FLF2-----Fn]
Where_Q° is physical amount of a certain product, and

F1, F2, ----- Fn stand for various inputs needed to produce Q°

Types of production function

It may be noted that to increase the physical quantity of Q° we will have to increase al factor
inputs or some of the factor inputs. Whether the firm can increase all factor inputs or only one of these
depends on the time period — that is, short period or the long period. Short period is the period in which
supplies of certain inputs are fixed while others are variable. Therefore, the firm can increase output only
by changing the variable factors.

In the long period supplies of all inputs are variable. Therefore, the firm can increase output by
changing all factors in the long run. Among the various forms of production function we are mainly

concerned with the two qualitative forms of production function. They are:

I.  Fixed proportion production function

Under fixed proportion we study input output relation where the application of all factorsis varied
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and proportion in which various factor inputs are combined remains the same. Production function

based on fixed proportion deals with the returns to scale. It explains the Law of Returns to Scale’.

Il.  Variable proportions production function
In the variable proportions, we study the production function when the application of a single
factor is varied, while the application of all other factors is unchanged. Then the proportion in
which the various factor inputs are combined changes. Production function based on variable

proportions deals with the returns to a factor and explains the Law of Variable Proportions’.

The Law of Variable Proportions

The law of variable proportions is the new name for the famous _Law of Diminishing Returns® of
the classical school. To be more precise, the law of variable proportions is a statement of more general
tendency than that of the Law of Diminishing Returns which focuses on the second stage of production.
The Law of Variable Proportions covers all the stages of production. It deals with three stages of relations
between inputs and output.

The Law states that -When more and more units of variable factor are combined with fixed
guantities of other factors, the increase in total production after a point, become smaller and smalled. That
is, as the proportion of one factor in a combination of factors isincreased, after a point, first the marginal
and then the average product of that factor will diminish. Thus there are three stages showing three
different situations of returns as depicted below. In the figure TP is the total product curve, MP is the

marginal product curve and AP is the average product curve.

H

| /_\\
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Stage | Stage Il | Stagelll
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e

0 M 0l X
Amount of variable factor e
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Stage |

This is the stage of increasing returns. Here total product (TP) is increasing up to the point F at
increasing rate. After this point, TP is increasing at a diminishing rate. It is because Marginal
Product Curve (MP) increases up to the point F and then it falls. The point F is called the point of

inflection.
Stage ||

This is the stage of diminishing returns. Here the TP continue to increase at a diminishing rate
until it reaches its maximum at point H, where the second stage ends. In this stage both MP and
AP are diminishing but still they are positive. At this stage TP reaches its maximum point H when
MP is equal to zero. This stage is very crucia because it shows the maximum range upto which

production can undertook.
Stage I 11

This is the stage of negative returns. Here TP begins to fall because MP goes below the X axis

showing negative returns.

A rational producer will always seek to select the second stage since the first abd the third ones
are non-economical stages. The law of variable proportions is relevant only in the short run. In
the long run it may not happen so.

The following points about the diagram needs specia attention.
e When MPisgreater than AP, AP rises.

¢ When AP and MP become equal, AP is at the maximum.
¢ When MP becomes lessthan AP, AP falls.
¢ When MPisequal to zero, TPisat the maximum.

e MPisthe maximum at the point of inflection of TP.

Returnsto scale

Returns to scale refers to the long-run production function. It represents the changes in output
when all factors or inputs in a particular production function are changed proportionately. In the long run
al inputs are variable. So returns to scale refers to change in output as a result of change in all factorsin

the same proportion.
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There are three types of returnsto scale.
1. Increasing returnsto scale
Increasing returns to scale happens when an increase in al factor inputs in a given proportion
causes a more than proportionate increase in output. When the scale of production increases, there will be
scope of specialization and division of labour. Thiswill result in internal and external economies of scale.
Internal economies occur as a result of the expansion of the individual firm. External economies of scale
are those economies which occur to all firms as the industry expands. As a result, output increases higher

than the increase in inpuit.

2. Constant returnsto scale
Constant returns to scale happens when an increase in al factor inputs in a given proportion

causes an equal and proportionate increase in output.

3. Diminishing Returnsto Scale

Diminishing returns happen when an increase in al factor inputs in a given proportion causes a
less than proportionate increase in output. The increase of the scale of production beyond the optimum
capacity brings diseconomies of scale in the form of congestion confusion inefficiency, etc. Thisis why

diminishing returns occur. The three stages of returnsto scale isillustrated below.

Marginal returns

Units of production
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In the diagram, units of production are measured along the X axis and marginal output along the Y
axis. When the unit of output increases the output increases differently. The portion AB shows increasing
returns to scale, the portion BC shows decreasing returns to scale and the portion CD shows diminishing
returnsto scale.

Economies and Diseconomies of Scale

The term economies of scale refers to the advantages resulting when a firm increases its scale of
operation. The firm accrues technical, financia and managerial economies from large scale production.
As output increases, the firm‘s average cost of producing that output is likely to decline. This can happen
for the following reasons:

1. If afirm operates on alarger scale, workers can specialize in the activities at which they are
most productive.

2. Scale can provide flexibility. By varying the combination of inputs utilized to produce the
firm*s output, managers can organize the production process more effectively.

3. The firm may be able to acquire some production inputs at lower cost because it is buying
them in large quantities and can therefore negotiate better prices. The mix of inputs may

change with the scale of the firm*s operation if managers take advantage of lower-cost inputs.

The term Diseconomies of scale refers to the disadvantages resulting from the very large scale
production. As the scale of production increases much it becomes difficult for the managers to co-ordinate
the business. Similarly, the advantages of buying in bulk may have disappeared once certain quantities are
reached. At some point, the supply of key inputs may be limited pushing their costs up.
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ModuleV

National |ncome Conceptsand M eaning

| ntroduction

Economic growth of a country measured with the help of change in its national income. The rate
of growth of national income of an economy is indicative of the pace at which the economy has been
growing. The rate of growth of national income when compared with the rate of growth of population

indicates whether the economy is declining, stagnant or developing.

Alfred Marshall -the labour and capital of country acting on its natural resources produced
annually a certain net aggregate of commodities, material and immaterial including services of all kinds.

Thisisthe true net annual income or the revenue of the country or the National Dividend.

Simon Kuznets — it is the net output of commodities and services flowing during the year from the
country‘s productive systems in to the hands of the ultimate consumers or into net addition to the

country“s capital stock.

National Income:

The money value of all final goods and services produced in a country during a financial year.
National Income broadly means the income earned by the residents of a country from work and
property in an accounting or financial or fiscal year. In India, an accounting year is from 1% April of a
calendar year to 31% March of the next calendar year.

National income Accounting:

It isatool used to summaries the performance of an economy by measuring its total income and
production in a particular year. Or National Income Accounting is a method of presenting National
income Accounts. National income Accounts are statistical statements on National income and other

related macro-economic aggregates.
Sources of Income

Following are the different sources of income.

a) Income from work: People earn income mainly from work. The standard of living of the people
depends on quantity and quality of goods and services consumed by them. It in turn depends on

the money income of the people.
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b) Income from property: Properties like land, building, factories, machinery etc. can be lent out to
othersto earn income. The income so earned is called rental income.

c) Royalties:-Income earned by those who own mineral wealth like iron ore, coals, natural gases etc.
and by those who possess copy rights, patents etc. (intellectual property). The various types of
properties mentioned above are called fixed assets or fixed capital.

d) Dividends:-People can earn dividends by investing the surplus income in stocks and shares.

€) Interest:-The surplus income used for purchasing bonds or debentures or lending to banks or
other agencies may yield interest income .These incomes (d) & (e) are called liquid assets. The
fixed assets and liquid assets together represent capital.

In countries like India economic growth is given more emphasis. The maor problem in these
countries is how to remove poverty and unemployment. Raising the standard of living of the people is yet
another problem. These entire problems can be solved only by means of accelerating economic growth.
Economic growth is a process by which the real national income and percapita real income of a country

are increased for a period of time.

In Indiathe Five Y ear Plans aim at accelerating economic growth. The First Five Y ear Plan set the
target of doubling the 1950-51 national incomes by 1971-72 and the per capita income by 1977-78.
However, the per capita income was doubled only by 1992-93. This was because of the high rate of

growth of population in the country.
National Income at Current Prices and Constant prices

National Income at current prices means the aggregate money value of all final goods and services
produced in a country during a year, estimated on the basis of market prices in the prevailing year or the

current year.

National income at current prices = (the volume of goods and servicesin the current year x market
prices of goods and servicesin the current year)
N.l at current prices=P (Q) + P(S)

Where, P = price per unit, Q = volume goods produced
S = volume of services
National income at constant prices means the money value of final goods and servicesin the

current year calculated at their pricesin a previous year (base year).
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National income at constant prices = (volume of goods and services in the current year x prices of
goods and services in the base year)
National at current price

N.l at constant prices = 100

Price index in the current year

National at current prices is influenced by the changes in the prices. To know the increase in the
real national income, we have to consider the national income at constant prices. In India, we have

national income and percapita income figures both at current and constant prices since 1950-51 onwards.

Gross Domestic Product (GDP)

The money value of all final goods and services produced in the domestic territory of a country
during ayear is called GDP.

Domestic territory of a country includes the following
Political boundary including territorial waters
Ships and aircrafts operated by the residents of a country between two or more
countries.
¢ Fishing vessels, oil and natural gas rigs operated by the residents of a country inthe

international waters or where the country has exclusive rights to operate.

e Embassies, consulates and military establishments of the country located in other

countries.

Normal residents of a country: All persons who ordinarily live in a country at least for one year
and whose economic interest belongs to that country are called the normal residents of a country. GDP

can be estimated both at market prices and at factor costs.

GDP at market price

GDP at market price is defined as the money value of all final goods and services produced in the

domestic territory of a country during an accounting year estimated at the prices prevailing in the markets.
GDP at market price = (Gross National Product at market price) — (Net Factor Income from Abroad)

Net Factor Income from Abroad (NFIA) is defined as income attributable to factor services
rendered by the normal residents of a country to the rest of the world less factor services rendered to them
by rest of the world. That is, NFIA is the difference between the income received from abroad by the
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residents of a country for rendering factor services and the income paid for the factor services rendered by

the non-residents in the domestic territory of a country.
GDP at factor cost

It is the estimation of GDP in terms of the earnings of factors of production. GDP at factor cost is
the sum total of the earnings received by the factors of production in terms of wages, rent, interest and

profit.

GDP at factor cost = (GDP at market price) — (Net Indirect Taxes)
Net Indirect Taxes = Indirect Taxes— Subsidies

Gross National Product

GNP is defined as the money value of all goods and services produced by the nationals of a

country within the country and outside the country during a year.

GNP at market price = GDP at market price + NFIA

Gross National Product at factor cost
GNP at factor cost = GNP at market price— NIT or

= compensation of employees + operating surplus

+ mixed income + depreciation + NFIA

GDP and GNP comparison

In order to distinguish between GDP and GNP we have to consider two terms; (a) domestic

territory of a country and (b) nationality of citizens.

GDPisaterritorial of geographical concept. It includes only those goods and services which are produced
within the domestic territory of a country, during a year. However it does not include income generated
by the home nationals in foreign countries. GNP, on the other hand, is a measure of the value of goods
and services that the nationals or residents of the country produce regardless of where they are located.

That is, GNP includes net factor income from abroad also.

GDP = GNP - NFIA
GNP = GDP + NFIA
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In short, the difference between GDP and GNP arises from NFIA.

Net Domestic Product (NDP)

Net Domestic Product is Gross Domestic Product minus depreciation or consumption of fixed

capital.

Depreciation or consumption of foxed capital refersto the loss of value of fixed capital dueto

wear and tear in the process of production.

NDP at market price and factor cost

NDP at market prices is the market value of all fina goods and services produced within the

domestic territory of a country less depreciation during ayear.

NDP at market prices includes the contribution of foreigners residing the domestic territory of a

country. However, which excludes the contribution of the citizens of the country residing abroad.

NDP at market price = GDP at market price — depreciation.

NDP at factor cost is the total payments made by all the producers to all factors of production
within the domestic territory of a country. In another word NDP at factor cost is the sum total of the

earnings of all factors of production in the form of wages and salaries, rent, interest and profit.

NDP at factor cost = NDP at market price — net indirect taxes

Net National Product (NNP) at market prices

It can be defined as the total value of final goods and services produced in an economy after

allowing depreciation

NNP at market price = GNP at market price — depreciation
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Net National Product at factor cost or National |ncome

NNP at factor cost is defined as the volume of goods and services turned out in country during an
accounting year or it isthe net value added at factor cost in country during ayear. Or it is the sum total of

domestic factor incomes and net factor incomes from abroad. Thus,
NNP at factor cost or National Income = domestic factor incomes + NFIA

Or

NNP at factor cost or National Income = NNP at market price — NFIA.

Note

1. The difference between GDP and GNP isthe value of NFIA

2. The difference between Gross and Net aggregates is the value of consumption of
fixed capital or depreciation.

3. The difference between market prices and factor costs is the value of net indirect
taxes.

PERSONAL INCOME

Personal income is the income received by the households and non corporate businessin a country

during a year.
Personal income = National Income — (corporate profits + social security

Contributions + net interest) + (dividends + transfers
Government to individuals + personal interest income)
DISPOSABLE INCOME

Disposable income is the income actually available to the households and to the non corporate
business after they have fulfilled their tax obligation to the government. That is, it is the income actually

available to the individuals for saving and consumption.
Disposable Personal Income = personal income — personal tax +non tax Payment.
PER CAPITAINCOME

It is the average per person national income.
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Per capita Income = National income / Population

Importance of the Estimation of National Income
Importance of the estimation of national income accounts are given below.

1 Indicator of economic performance: it indicates the level of economic growth and welfare in a
country. It tells us the achievement of a country after utilizing its natural, human, capita

resources.

2 Indicator of structural changes: it throws lights on the structural changes of the economy. It
informs us about the direction of changes in the relative shares of primary, secondary and territory

sectors.

3 It helps in policy formulation: the information provided by the national accounts is very helpful

for the formulation of various economic policies by the government.

4. It helpsin making comparison: it helps usin comparing the national income and percapitaincome

of one country with those of other countries.

5 It is helpful to the trade unions. national accounts reflex the nature of distribution of factor
incomes. This helps trade unions in making rational analysis of the remunerations given to them.

It helps them to make necessary actions to ensure considerable payments.

6 It is helpful to the UNO: it is helpful to the UNO for planning welfare programmes for the
devel oping countries according to their requirements.

Difficultiesin Estimation of National | ncome

1 Conceptual difficulties: in the first place there have been the differences of opinion regarding
Nation® in the concept of national income. It is argued that national income denotes the income of
the nationals and as such income received by the nationals living abroad should be added with the

income produced within the country.

2 Value of services: to calculate the value of servicesis very difficult. Many services in redl life are
rendered out of mercy, friendship and generosity which cannot be equated to money value.
Similarly the services of home makers are excluded from the national income. This will

undervalue the national income.

3. lllegal activities: income earned through illegal source like smuggling, black marketing etc. are
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excluded from national income on account of social usefulness, though these incomes are

outlawed, their exclusion will underestimate the national income.

4. Activities of foreign firms: the income generated by the foreign firmsin a country also creates a
problem in national income accounts. The problem is whether their income is a part of the national

income of a country where they are located or that of the country which own thefirms.

5 Choice between methods. another difficulty in estimating national income is connected with the
choice between the methods of estimation. It is argued that any one or al of the methods could be

used simultaneously depending, off course on the availability of data.

6. Sage of economic activities: in accordance with the purpose of national income estimation any
stage of economic activity- production, consumption and distribution could be adopted. For
example, if the purpose is to assess the economic welfare, then the consumption stage and if the

aim to assess the economic potential, then the production stage could be more appropriate.

7. Double counting: the main difficulty in estimating national income is the problem of double
counting. Double counting means the counting the value of a good more than once. The best way
to avoid double counting is to calculate the value of goods and services that enter into final
consumption. Another method of eliminating the double counting is to adopt the the value added*

method of estimating national income.

Special Difficultiesin under developed countries

1. Existence of non-monetized subsistence sector.
2. Difficulty in classifying economic activities.

3. Valuation of productsisalso very difficult.

4. Lack of proper accounts.

5. Inadequate and Unreliable statistics.

M easurement of National | ncome

National Income can be measured in different ways. We look at national income in three ways:
(a)Asaflow of goods and services produced
(b)As aflow of income and

(c)As aflow of expenditure
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Corresponding to the above three concepts, there are three methods of measuring national income.

They are:

(a)Value added method or product method
(b)Income method and
(c)Expenditure method

Value Added Method or Product M ethod

National income according to the value added method is the sum of net value added or net final
output produced by all the producing sectors of an economy during ayear. The net value added method i s
otherwise known as product method or net output method. This method approaches national income from
the output side. According to this method national income is measured by adding up the money value of

al final goods and services produced in an economy during a year.
This method involves three steps in computing national income. They are:
1 Identification and classification of production unitsinto industrial sectors, i.e., primary sector,
secondary sector and tertiary sector.
2 Estimation of net value added factor cost and

3. Estimation of net factor income from abroad.

Estimation of Net Value Added at Factor Cost

Net value added at factor cost = (net value added at market price — net indirect taxes)
Net value added at market price = (gross value added at market price — depreciation)
Gross value added at market price = (gross value of output — intermediate consumption)

Intermediate consumption means the consumption of secondary inputs or intermediary goods.

Gross value of output = P (Q) + P (S). i.e. the money value of all final goods and services
produced.

Estimation of NFI A

NFIA consists of net compensation of employees, net income from property and entrepreneurship

(net operating surplus) and net retained earnings of resident companies abroad.

Thus, National income = Net value added at factor cost + NFIA
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Income M ethod

The income method measures national income from the side of the payments made to the primary
factors of production for their productive services in an accounting year. According to this method
national income is calculated by adding up all the incomes accruing to the basic factors of production
used.

After identifying the production unitsin to different sectors — primary, secondary and tertiary, the
factor incomes received by the factors of production in all production sectors are added up. We get the
factor incomes received by all the three sectors. The sum of thiswill give us the domestic factor incomes.
When NFIA is added to the domestic factor incomes, we get national income.

The factor incomes are classified in to

1. compensation of employees
2. operating surplus
3. mixed income

National income = Domestic factor incomes + NFIA
Expenditure method

This method measures national income from the expenditure side or by measuring final
expenditure on GDP. The total expenditure is composed of two elements — consumption expenditure and
investment expenditure.

There are four components of final expenditure on GDP. They are

1. Private final consumption expenditure.
2. Government final consumption expenditure.

3. Gross domestic fixed capital formation comprising gross fixed capital formation, changesin stock
and net acquisition of valuable assets. and

4. Net exports. (exports— import)

Estimation of National Incomein India.

v" The First estimate of national incomein Indiais prepared by Dadabai Naoroji in 1868. it

I ntroductory Economics | Page 67



School of Distance Education

was published in his famous work Poverty and Un British ruleinIndia

v Thefirst scientific and reliable estimate of national income was done by V.K.R.V Rao for
the year 1931-32.

v Thefirst official estimate of National income was prepared by the ministry of commercein
1948.

v" The national committee was appointed in 1949 under the chairmanship of prof. P.C
Mahalanobis.

v Thefirst report of national income committee appeared in 1951 and itsfinal report in 1954.

v' The CSO (Central Statistical Organization) released the first issue of white paper on
national in the year of 1956. from 1956 onwards, the CSO has been publishing annually

national income statistics under the title National Account Statistics®.
v We have seriesin national income estimate;

e Conventiona series (1948-49 as the base year)

¢ Revised series (1960-61 as the base year)

¢ New series (first with 1970-71 as the base year, later with 1980-81 and 1993-94
as the base year and at present 2004-05 as the base year.)

NOTE: The national Income aggregates estimated at current prices are called nominal and those
at constant prices are called real aggregates. The true indices of economic growth or welfare are red
aggregates like real GDP, real NNP, real PCI etc.

The GDP Deflator

From nominal GDP and real GDP we can compute the GDP deflator. The GDP deflator, also called
the implicit price deflator for GDP, is defined as

Nominal GDP
GDP Deflator = = —meemeeemeeeeees

GDP Deflator is defined as the ratio of nominal GDP to real GDP. It measures the price of the

typical unit of output relative to its price in the base year.
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Module V

Classical Vs K eynesian economics

The term classical economist‘ was first used by Karl Marx to describe economic thought of David
Ricardo and his predecessors including Adam Smith. According to JM Keynes, the whole set of economic
ideas and principles propounded by Adam Smith, David Ricardo, JS Mill, JB Say and even Alfred

Marshal and AC Pigou constitutes the classical economics.

Say’s Law of market.

This is the core of classical economics. It was this so called Law which gave a concrete
formulation to the idea that general overproduction and hence general unemployment were impossible.
The assumption of full employment as anormal phenomenon of free market economy isjustified by

Say‘s Law of market*.

The law of market is propounded by J.B Say, an early nineteenth century French economist. The
law states that —supply creates its own demandl. In his words -it is production which creates market for
goods, for selling is at the same time buying and more of production, more of creating demand for other
goods. Every producer finds a buyer. That is every supply of output creates an equivalent demand for
output, so that there can never be a problem general over production. Say‘s law thus denies the possibility

of the deficiency of aggregate demand.

Say‘s law so conceived describes an important fact about the working of free exchange of
economy that the main source of demand is the sum of incomes earned by the various productive factors
from the process of production itself. A new productive process, by paying out income to its employed
factors, generates demand at the same time that it adds to supply. It is thus production which creates

market for goods.
Basic assumptions of Say‘s Law

1. Thelaw operates only in free exchange economy where there is perfect competition.

2. Thereisfreeflow of money incomes. Asand when incomes are received they are

immediately spent
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3. Savings are equa to investment and this equality is brought about by flexible interest rate.

4. The government follows the policy of laissez-faire and does not interfere in any manner

with the operation of the market forces of demand and supply.

5. The size of market islimited by the volume of production, only then will demand equal

supply or supply creates its own demand.
2. Laissez-faire

The policy followed by the classicals is called the laissez-faire policy.(laissez-faire a French word
which means -Let things alone)) It is a policy of non-intervention by the government in individual or
industrial economic affairs. The doctrine favours capitalist self-interest, competition and natural consumer

preferences as forces leading to optimal prosperity and freedom.

According to the classicals individual action motivated by enlightened self-interest and regul ated
by competition tend to promote individual aswell as social welfare. They opposed all kinds of restrictions
on economic activities as they hamper competition, and thus, interfere with the automatic working of the

market economy. In short, there is no need for any governmental intervention in the economy.

3.Classical Theory of Employment

The classical economists did not formulate any specific theory of employment as such. They only
laid down certain postulates. The two broad features of classical theory of employment were :(a) The
assumption of full employment of labour and other productive resources and (b) flexibility of prices and

wages to bring about full employment.

Assumption of Full employment

The classical economists assumed that labour and other resources were always fully employed.
According to them, the general over production and hence general unemployment is impossible. There
may be lapses from full employment at times but these were regarded as temporary and abnormal. The
normal situation is stable equilibrium at full employment. If at any time unemployment persists for long
time it is because of the interference by the government or private monopoly with the free play of market
forces or wrong calculations of businessmen or artificial resistances in the economy. The classical
economists held the view that in afree competitive capitalist economy, there was always full employment

or atendency towards full employment. In short, full employment is a normal phenomenon according to
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the classical economists.

The normal full employment was guaranteed by the policy of the laissez-faire. According to the
classicals, the laissez-faire capitalism was self adjusting. They had great faith in free and perfect
competition, efficiency of the profit motive and price mechanism to remedy the temporary dis equilibrium
in the economy and ensure full employment. The classical economists believed that savings are always
equal to investment. This equality between savings and investment, they thought, was brought by the rate
of interest. If aggregate demand falls short of aggregate supply, there may be temporary unemployment.
But flexibility of interest rate would soon brought about adjustments, and lasting unemployment could

not persist.

The classical theory does not explain what determines the level of employment. But instead, it
assumes full employment and tries to explain the alocation of resourcesin production and the distribution
of income among the resources involved in production. The market forces of demand and supply allocate

resources as well as determine their rewards.

WAGE-PRICE FLEXIBILITY

According to the classicals, the wages and prices are flexible. Thisflexibility ensures equilibrium
in market. In other words, demand will be equal to supply in all markets. All disequilibrium conditionsin
the market will be corrected with the wage-price flexibility. For example, when there is excess demand
for labour, wage rate will increase which in turn increases the demand for labour. Similarly, when thereis
excess supply of labour, wage rate will fall and automatically supply will be reduced. Wage flexibility
ensures that the market for labour is always in equilibrium. If there is general over production resulting in
depression and un employment, prices would fall as a result of which the demand would increase, prices
would rise and productive activity will be stimulated and un employment would tend to disappear and
vice versa. As A.C.Pigou says, With perfectly free competition, there will always be at work a strong
tendency for wage rates to be so related to demand that everybody is employed.

KEYNESTION REVOLUTION

In the year 1936, Lord JM Keynes published his magnum opus -The Genera Theory of
Employment, Interest and Money. This was to provide a solution to the unemployment problem of the
great depression 1930s. The publication of Keynes‘s General Theory* brought about a new approach to
economic analysis known as macro economics. Macro economics deals with the economy as a whole. It
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deals with economic aggregates like national income, aggregate demand, aggregate supply etc.

An important issue in macro economics is the determination of the level of income and
employment. The crucial question is, what determines the level of income and employment in an
economy? The classical economists like Adam Smith, JB Say and David Ricardo believed that a free
unregulated economy will always be in equilibrium and that there will always full employment in the
economy. Temporary disequilibrium will automatically correct. The classical theory of full employment
was based on the famous Say‘s Law of market‘. According to JB Say -supply creates its own demand.
Whatever produced in the economy will automatically be demanded in the market because production
(supply) generates equivalent income to demand the goods produced. If supply creates its own demand,
general over production and under production are not possible. Price flexibility and wage flexibility will
ensure equilibrium in the economy and at equilibrium the economy will be in full employment. Therefore,

the classical economists believed in full equilibrium.

The classical theory was proved wrong during the Great Depression of 1930s. Over production,
insufficient demand and massive unemployment discredited the classical theory. An alternative theory of
income and employment was developed by Lord JM Keynes by publishing his master piece, -The
General Theory of Employment, Interest and Money in 1936.

Keynes rejected the classical theory of full employment. According to him the economy can bein
equilibrium at less than full employment level. He calls this as underemployment equilibrium*. The
central theme of Keynesian theory is the principle of effective demand. According to JM Keynes,
employment in an economy depends upon effective demand. Hence unemployment is due to deficiency of
effective demand. Effective demand determined at the point where aggregate demand and aggregate
supply are equal. Since, unemployment is caused by deficiency in aggregate demand, Keynes suggested

the intervention of the government to increase aggregate demand and solve unemployment.

Effective Demand

The concept of effective demand is regarded as a logical starting point of Keynesian theory of

income and employment.

-The level of demand in the economy which is fully met by the corresponding supply so that thereid no
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tendency on the part of entrepreneur to either expand or contract production is called effective demand”

In other words effective demand is equal to national income or the receipts of all members of the
community in the form of rent, wages, interest and profit. These receipts are in tern spent on the purchase

of product produced in the economy. The determinants of effective demand are aggregate demand and

aggregate supply.
Aggregate Demand

Aggregate demand is the sum of demands for current output by each of the buying sectors of the
economy, households, business men, the governments and foreign purchasers. In other words the total

demand in an economy at various levels of employment is referred to as aggregate demand.

Aggregate Supply

Aggregate supply shows the output forthcoming at each level of product price. The aggregate
supply curve shows the total output firms will supply at each value of the aggregate price level. Or it
refers to the total supply of goods and services in the economy. This is the same as the net national

product at factor cost or national income.

Components of Aggregate Demand

Aggregate demand is the total demand in an economy at various levels of employment. It is

nothing but total expenditure on goods and services in an economy. Its main components are:

household consumption demand (C)

private investment demand (1)

government demand for goods and services (G) and
net exports demand [Exports (X) — Imports (M) = NX ]

A w0 Dd PP

That is, aggregate demand (AD) =C + 1 + G + NX
Household Consumption Demand (consumption function)
Consumption isthe sole and purpose of production- Adam Smith.

The functional relation that exists between income and consumption at different levels of income

is called consumption function or propensity to consume.
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C =1(Y)
Where, C = consumption
Y =income

The households consumption demand depends on its disposable income. Disposable income
means the amount which the households is left with after paying personal taxes from the total income.
Household consumption is a positive function of disposable income. That means as disposable income
increases household consumption also increases. However, consumption does not increase as fast as
income. When income increases consumption also increases but the rate of increasing consumption will
be less than proportionate to the increase in income. This is the so called psychological law of

consumption of M Keynes.

The consumption function is a relationship between income and consumption expenditure. The two
important aspects are:

(@ Consumption expenditure varies directly with disposable income.

(b) Keynes had stated in his fundamental psychological law of consumption® that in general, an
individual increases his consumption expenditure when his income increases. However, the

increase in consumption is less than the increase in income.

The non-linear consumption function can be expressed as
C=1(y), where C= consumption expenditure and y= disposable income.

The linear consumption function can be expressed as C=at+bY where C= consumption

expenditure, a=autonomous consumption (the consumption at zero level of income), b= marginal

propensity to consume and Y =disposable income.

The propensity to consume can be classified into Average Propensity to Consume (APC) and
Marginal Propensity to Consume (MPC). The proportion between total income and total consumption is
called average propensity to consume. The proportion between an increment in income and

corresponding increment in consumption is called marginal propensity to consume.
APC=C/Y

Where, C = total consumption and
Y = total income
Suppose total income is Rs 1000 and total consumption is Rs 750. then APC = C/ Y. which is
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equal to 750/ 1000 = 0.75 or 75%.
MPC =AC/AY
Where AC = change in consumption and

AY = change in income

Suppose increase in income is Rs 100 and corresponding increase in consumption is Rs 70. Then MPC
=AC/AY =70/100=0.7 or 70 %.

Saving Function or Propensity to Save
Propensity to save or saving function expresses the relationship between saving and income.
Symbolically, S=f (Y).

We have aready noticed that as income increases, consumption also increases but less than
proportionately. This is because as income increases, people save more. Saving is the excess of

production over consumption.
S=Y-C
Where S = saving, Y = income and C = consumption

As income increases, saving also increases but the rate of increase in saving is generally higher

than that of income.

Average Propensity to Save and Marginal Propensity to Save

The proportion between total income and total saving is called average propensity to save.
Symbolically APS=S/Y.

The proportion of income that is saved out of additional or incremental income is shown as

marginal propensity to save or it isthe ratio of change in saving and change in income. Symbolically,
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APC+APS=1
APS=1-APC
APC=1-APS
MPC + MPS=1
MPC=1-MPS
MPS=1-MPC

MPS=AS/AY

Private | nvestment Demand

The second component of aggregate demand is investment demand of investment expenditure on
the creation of new capital assets.

Entrepreneurs investing profits with an expectation of profit, therefore they will make investment
only if the returns from investment are more than the cost of investment. The expected return on
investment is the marginal efficiency of investment (MEI). MEI may be defined as the expected rate of
returns from an additional unit of capital invested. Keynes called this as the marginal efficiency of capital.
The cost of investment is the rate of interest. The MEI curves slopes downwards showing the negative
relationship between investment demand and rate of interest. That is, more the rate of interest less the
investment demand will be and vice versa.

R

AN

Rate of interest

El

0 M1 M2 M
Level of investment

The diagram shows the relation between the rate of interest, marginal efficiency of investment and

the demand for investment.
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Government Demand for Goods and Services

Government is another important buyer of goods and services. Government expenditures are for public
needs, like schools, roads, health care maintenance of law and order, defense from external aggression and
also to implement policies for countering inflation, depression, recession. The motive for these purchasesis
not profit but welfare of the nation.

Net Exportsor Net Foreign Demand
The difference between exports and imports gives the net export of the country. It represents
foreign demand for goods and services. This depends on the trade policy of the governments, relative

prices of goods, incomes of the nations and foreign exchange rates etc.

The Aggregate Supply

Aggregate supply is the aggregate cost of producing the output. It represents the country‘s net
national product at factor cost. In money terms it is the aggregate producing the output which goes to
factors asincome in the form of rent, wages, interest and profit.

Deter mination of Income and Employment

The level of income and employment is determined by the aggregate demand and aggregate
supply. For simplicity, in the aggregate demand only consumption demand and investment demand are
taken into account. l.e. AD =C + |

Similarly, aggregate supply consists of consumption and saving, since the factor incomes are used

either for consumption or saving. Therefore AS=C +S

The equilibrium if income and employment is determined where the aggregate demand equals
aggregate supply. Wherever aggregate demand and aggregate supply are equal, saving and investment are
necessarily in equilibrium. This can be explaining through simple equations.

AD=C+land
AS=C+S
IfAD=AS,C+1=C+S

Thereforel =S

The equilibrium point of AD & AS (I and S) determines the equilibrium level of income and

employment in the economy. Following table explains determination of income and employment.
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0 50 -50 | 100 | 150 0

100 100 0 100 | 200 100

200 150 50 100 | 250 200

300 200 100 | 100 | 300 300

400 250 150 | 100 | 350 400

500 300 200 | 100 | 400 500

According to the table the equilibrium level of income takes place at Rs 300 crores because at this
level AD = AS. Similarly, here saving is also equal to investment (100 crores). The equilibrium can
never be at any other level of income. E.g: if the level of income Rs 200 crores, people are willing to
spent Rs 250 crores here the demand exceeds supply and the level of pain would be increased. Similarly,
if the income is Rs 400 crores, AD is Rs350 crores and AS = 400 crores. This is the case of excess
supply. And at this level production will be decreased. Therefore, the level of income and employment is
determined at the point where AD = AS (Rs 300 crores). At this point saving is also equal to investment
(Rs 100 crores).

The equilibrium may be below or above the level of full employment. As against the classical
theory of Keynes held the view that, there exist the under employment equilibrium in a free enterprise
economy. The determination of income and employment can be explained with the help of following

diagram also.
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The Multiplier
The theory of multiplier is an integral part of the Keynesian theory of employment. Changes in net
investment cause change in income. These changes in income are a multiple of the change in investment.
This multiple is called multiplier. The multiple changes in income, due to a change in investment is called
investment multiplier. i.e. multiplier is defined as the ratio of the change in income to the investment.

Symboalically,

K =AY / Al
Or K=1/MPS or K=1/(1-MPC)
As the value of MPC rises, the value of multiplier also rises. If an increase in investment is Rs 10

crores and increase in income is 40 crores. Then

K =AY / Al = 40 crores / 10 crores = 4
The comparison between basic postulates and economic ideas of classicals and Keynesis given
below.
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CLASSICAL ECONOMICS KEYNESIAN ECONOMICS

Stable full employment equilibriuminthe | Under employment equilibrium in the

economy economy

Policy of laissez-faire Policy of government intervention

Say‘s law of market — supply createsits Deficiency of aggregate demand

own demand

Saving-investment equality is determined Saving-investment equality is determined
by the rate of interest by the level of income

Investment isafunction of rate of interest. | Investment is a function of margina

efficiency of capital and rate of interest

Money is neutral Money is non neutral except at full
employment and at liquidity trap

Wage-price flexibility Wage-pricerigidity

Interest is the reward for abstinence or Interest isthe reward for parting with

waiting liquidity

Long run Short run

Under Employment Equilibrium

Even if there is equilibrium between aggregate demand and aggregate supply, there can be
unutilized resources. So long as there is involuntary un employment, an economy is said to be in under
employment equilibrium even if there is no mismatch between aggregate demand and aggregate supply.
In the employment of labour there is wage-price rigidity. Besides, marginal product of labour is constant
according to Keynes. So aggregate supply is perfectly elastic with respect to price below full
employment. In such a situation, the level of aggregate determines the equilibrium level of output and
employment. Full employment level requires a particular level of aggregate demand. But when the level
of aggregate demand is deficient, there will be under employment equilibrium. This situation is shown in

the following figure.
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evel of employm

oyment

AD isthe aggregate demand curve and AS is aggregate supply curve. P is the equilibrium price at
the equilibrium output level of g. But this equilibrium is an under employment equilibrium, full

employment level of output being Q.

According to Keynes, increase in aggregate demand is the only way to take an economy to the fulll
employment level. Increasing the government expenditure is the magjor way to strengthen aggregate

demand when the economy isin depression.
WAGE-PRICE RIGIDITY

According to the classicals, the wages and prices are flexible. This flexibility ensures equilibrium
in market. In other words, demand will be equal to supply in all markets. All disequilibrium conditionsin
the market will be corrected with the wage-price flexibility. For example, when there is excess demand
for labour, wage rate will increase which in turn increases the demand for labour. Similarly, when thereis
excess supply of labour, wage rate will fall and automatically supply will be reduced. Wage flexibility
ensures that the market for labour is always in equilibrium. If there is general over production resulting in
depression and un employment, prices would fall as a result of which the demand would increase, prices
would rise and productive activity will be stimulated and un employment would tend to disappear and
vice versa. As A.C.Pigou says, with perfectly free competition, there will always be at work a strong

tendency for wage rates to be so related to demand that everybody is employed.

But according to Keynes there is wage-price rigidity. In the real world it is not possible to reduce
the wages on account of government policy and due to the existence of trade unions. So the wages are
more or lessrigid rather than flexible. Similarly, the prices of goods and services are also not flexible. A
reduction in prices and wages will bring about deficiency in aggregate demand which will reduce the

level of effective demand. A reduction in effective demand will finally be leading the economy into
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depression.
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